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Indifference curve is based on the assumption of
FLOCBHITEH G eUem6eTC&HM(H LI6dT 6u(heueoTeumHnlev T(H &G merfledr &y1q LiLiemLulev
9 (HEUTSHSLILIL (H 6T
A: Addittive
Fol L &8 lq L
B: Multiplicative
QUIHEFH&H Falq UL
C: Transitivity
QS ITLFLNEMMEMLD BLIMK S 60)60T
D: Unrelated
Q&TLILUMMeME

Correct Alternative:- C

From the following, which refers to the problem why most people are unwilling to participate in a fair game or art
LY edTeupeueoTel mNl6v, GILIIHLD LITEVITEOT L& & 6T &L0 GUITUILILITET MO &F W6V BI&WLEFF 9Ll L &S 60
LG & & meTeT ellHLOL ML L TF&HET 6T60TLIemg LM ST TS TS
A: Giffen Paradox
&) & LI60T (Lpiyevor LIM(H)
B: Leontif Paradox
eSwlmedTLq LI (Lniyevor LIM()
C: Friedman and Savage Hypothesis
LY L06dT Lnmmilh &mGeusy eT(n &G meT
D: St. Petersburg Paradox
Yeoflg LT Ly LS

Correct Alternative:- D

In the case of Giffen Good, the consumer buys less of it, when its price falls is due to the positive income effect is stronger
than

& & LI6dT QUITIHL_ G 66, ellemev Gemmud CUIMS!, BISFTCEUTT &6 MeUTS 6UITMhIE6US M8 TeoT
&MTyevorLD, GHFLDemMUITET eU(BLOTeoT ellemermey LIleoTeu [HeueoTeu M6y 675 eme60T el 6UEVIaITS
o _6Teng) ?

A: Negative income effect
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6TH [T LD6DY M WL T6OT 61 ([HLOITEOT 6)l6mermey]

B: Positive substitution effect

Gl muwmer LSH6SL_(H ellemereay
C: Negative substitution effect

T T LnemmWmeor LKHeSL(h ellemerey
D: None of these

@6uMmNI6L 61316 LD @)6V6DI6V

Correct Alternative:- C

Indifference curve analysis is based on the assumption of

FIOGHTEHGS aUeeTCHITL(h U6 6T(H & BT 66T 419 LILIemLUI6L S{emLDHSI6TeNS.

A: Non satiety
QgL LmemLn
B: Transitivity
QSITLIT (e MEmLN IB]LITH S 6 60T
C: Diminishing marginal rate of substitution
GmMH &6 @ MG Blenev LG 6SH
D: All of these

Q) 6M6U M6ITSHSILD

Correct Alternative:- D

The Marginal utility divided by the price of the commodity is known as :
@ MG Blemev LIWeTUITL 6L LIQLITIH6T6T alemeulmey 6UEG S5 H TV, 3| &l

eTeoTL1LI(hILD
A: Aggregate Marginal Utility
QLMHS @ MG Blemev LiLeoTLIM(H)
B: Aggregate Average Utility
QMESE Frmai] Liwerum@
C: Weighted Marginal Utility

eTem WL 1L L @G Blemev LiuledTLIm()
D: Weighted Average Utility

T LWL LUl L sgmey] uwerum@)
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Correct Alternative:- C

Elasticity of production of a variable input being less than one indicates :

GET IT ON
Google Play

@@ LDMMILD STFevorlulledT 2 MLUISH QBRDEDR epeTemm Nl GH6MeUTsH @ (HLILIGI 6TenS

STLOH6eTmSI ?

A: Increasing returns to that factor
&5 Mol W6t 915 &S 6rm 6llememe s 6T
B: Diminishing returns to that factor
3155 MTeool1Wiler Genm & eTm el6t6mey & 6iT
C: Constant returns to that factor
3|55 Mevol1Wil6dT [Blemevimeot 6)l6merTe) 86T
D: Negative returns to that factor

3|55 MTeool W60t 6TH) [FLDem MU TeoT 6l60)6T6Y 8561

Correct Alternative:-B

Which function covers constant, increasing and decreasing returns to scale ?

6TH & ST Blemevulmeot, 3H &8 & eTm LDMHMILD Genm & erm ellemere| 6l & &emerT

Q & TevoT (h) 66T ?

A: Cobb Douglas Production Function
ST LT&Emen 2 MUGH &MLy
B: Constant Elasticity of Substitution Production Function
BlemeuwlmeoT LIS (h OBHLFF 2 MLSH FTiL
C: Cost Function
QFeve| FMIL
D: Profit Function

@eurmu FmiyL

Correct Alternative:- B

In cobb Douglas production function, when there is decreasing returns to scale, a + § will be :

SITL L& emenv 2 musSH emiLilev, L@ ellemereyseflel Gemmiba Q&Fevalemerne)]

QFWEVLIL LTV, a+ B 6TeU6UTM @) (HEGSLD ?
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A: Equal to one

660TMIE @ FLOLD
B: More than one

eeTenm il FH &0
C: Less than one

QeTen D 6l Genme
D: Not equal to one

QRETMI&H G FLOETMM Hlem6ev

Correct Alternative:-B

9 The reason for the 'L' shaped LAC curve is :
BevorL &mev FrmEf] Feva&CsHTMH 'L aUIGaISH6V @) (HLILISMETEOT &5TI60TLD

A: Learning by doing
QEFW NN 3IDLIAISH6V &M MO S TeTel S
B: Production and Managerial Cost
2 MUSGH LMHmID GLOEVTETITEN LD GlF6VE)Y
C: Technical Progress
Q& MElLEHIL LI (LN6TGeoTMHMLD
D: All of these
@ M6l M6TSHSILD

Correct Alternative:- D

10 When the price elasticity of demand is less what will be the degree of monopoly power ?

allemev CHemel QBHHLDEF GHmMeUTs @ (H&GSGCUTSEH WMHMIFlend FE&H U6 STLD 6TeleUmmI
QHHGSLD :
A: Greater

P &HLOMS
B: Less

GENMEUTS
C: Equal

SFLOLDIMS
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D: None of these
@6umN6L 61316 LD @)6L6t6V

Correct Alternative:- A

11 In perfect competition, the long run average cost curve working at the minimum point implies :

Blemme Ll GUML1quilev, BevorL &mev &FmEfl QFevea] GaHM(H GmMBS STLOOL L L]eTerfluilev
@ BIHS TV, I56M60T 6TeU6UTMI So MILILINL6VITLD ?

A: Optimum Scale
2SS0 366
B: Technical Efficiency
Q&ML HIL LI HMedT Q& mevorL_gl
C: Price is equal to Marginal Cost
allemev b & QFeva d &FLoLD
D: All of these

@ 6M6U I M6TSHGILD

Correct Alternative:- D

12 For a firm to be in equilibrium, the slope of MR curve must be that of Marginal cost.

BloiaeTd &0 Blemevuiley @) (HE s CauetoT(h LD 6T6OTMIT6V, @) MIS) Bletrey aUIHEU T G85ITL_19 60T
Frule], @M mlenev GQEFevemnel el @) (&5 Ceuevor(hlLd
A: Greater than

F\&HLOME
B: Less than

GENMEUTS
C: Equalto

FLODMT&EH
D: None of these

@6uMmNI6L 61316 LD @)6V6DI6V

Correct Alternative:-B

13 Under Pure Monopoly, when total revenue of the firm remains constant at all the levels of output, then Marginal Revenue
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will be :

STw Wooflenn Qeuerflufl 19.60T 6T6LEVIT BlemevUIlaYLD, Bl MI6I60TEH) 60T GILDMTE S 6U([HEUTLI
BlemeLWITE: @) (H&&GLDCLIMSI, @M Blemev aUHEUITUI 6T6UAIETE| @) (H& G LD ?

A: More than one

eTenm L H&L0MEs
B: Less than one

Q6TemM L GHeMMEUTS
C: Equal to one

6260TMI&H G FLOLDMTS

D: Equal to zero

LLRUWSH MG FLOLDME

Correct Alternative:- D

14 The difference between ideal output and the output actually attained in the long run is known as :

BeoorL &MevsH v Fiflwimet Qeuerflufi g M@0, QUOLILL L Qeleflufllgm@&Lh 2 eiTer
GeumiLImLenL eTeueumm GMILILNHleus ?

A: Limit capacity
6TELEDIGL QLMM 6V
B: Excess capacity
TFF SLMM6V
C: Uniformity Assumption
BT 6T(HN&HGE 6T
D: Symmetry Assumption
QUL 6LIL] T(h& B8 TeT

Correct Alternative:-B

15 Non price competition and quota system are the two main methods of :

aflemevuileveum GUITL_IQULD, G&TLLIT (LnemMmULD LIl6dTeu [Heu6eTeUM M6V 6785 601160T (LN &)Wl
(LDEDY M G6TT ?

A: Joint profit maximisation cartel

Fol_(h) @6VITLI 2_&& LDWILNITE G 8 60160T 61600118 Fol L6001
B: Market sharing cartel
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SIMBIGTLY LITEIE 61600118 Fol L 600f]
C: Low cost price leadership model
SMMIHS 6Fev6] alleney Hemevenin LDMEH ]

D: Dominant firm price leadership model

Q& mH6e%6L HemeuBWIMTHEISR BIMEGLD allemev Hemevemin TSI

Correct Alternative:-B

16 In monopolistic competition, competitive advertisement, product differentiation and expenditure on cross transportation

cause :

womiflentd GUMLguilev, UL LY e, QUT@HeT Ceumm@k LMHMID &MIsS
CUMEHG TS S 6Fa6) 56T L& Ulemeuuileormev ¢ HLIGID @ LbBlemev LIedTeu[HeueoTelMNIl6L eTemeu ?

A: No profit no loss
@6VTLIINLD @)6VEVITS HEY L (LD @)6VEVITS @ LDIBlem6y
B: Waste of resources
aueTmIgerfleor el ulmi g 6T
C: Abnormal profit
SH 8 LIIQWITEOT @)6VITLILD
D: Loss
e L LD

Correct Alternative:- B

17 In which market absence of interdependence is found ?

Bl M16U60TMHIS EH &S 60 LGl Lemeuor LIL] MM Hlenev HLOGHETEILD 6THS IS T uilev
ST ILQS mSI?

A: Perfect competition

Blemme UL LY
B: Monopoly

whairflenn

C: Monopolistic competition

womiflenn GUIMLLY
D: Oligopoly

FevCeuy WMMIfletIln
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Correct Alternative:- C

18 In a competitive labour market, the wage rate will be determined by the of a given quantity of labour force.
GUITL_LQU6ITET 2_6mLOLILITETT MG TIUI6V, 2 6D LILITeT & 6rfl60T 8060l LIl6oTeu ([HLD 6785 60T M6V
Bl Feoor W& sLIUBS M 2

A: Total product
QMG 2 MUSH
B: Average product

Frnafl 2 MHuUSH)
C: Marginal product

QoG Bl 2 HUSH)
D: Marginal cost

QoG Bleney QFeva

Correct Alternative:- C

19 In which market, within the limits of a contract zone, the actual wage rate is indeterminate ?

LY edTeupeueTelmnlev 6THS IMISTIQLUIN6V, LILIBHS 6T6LEDIEVE 6T, Fn6dl T8N
Bl Jevor Uil & & LI allevemev ?

A: Perfect competition

Blemme] GLITL LY
B: Monopoly

wWwmHoflemno

C: Bilateral monopoly

@waTUY WwhHoiFlenn
D: Oligopoly

FeLCeumy (Wmmiflemin

Correct Alternative:- C

20 When a supply of a factor is inelastic in the short period but is elastic in the long period it yields

@ 2 MUSH &myevoluiletr eflliL] GmISH W &HTevEH 6L QBHILDLFF UMM TEH|LD HevorL
HTVEHH L QHHLDEF UM L UISHTEH|D @) (HIHST6V FL(pLD.
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A: Scarcity rent

LDMT& G M LTS0S
B: Situation rent

QLMWL UTTSHeMS
C: Economic rent

Qumerfluwey L& ens
D: Quasi rent

GUMeS LITT& M5

Correct Alternative:- D

21 From the following information calculate the National Income :

e GDP at market price = 10,000

e Indirect tax less subsidies = 150

e Net factor payments to the rest of the world =-100
e Depreciation = 200

e Imports = 1,200

LN edTeU(HLD &86U6V5M6T 606UH S CHGF L UIHEUTEN U 560078 H LaLD
o FHemS allemevuwilevmerr QLTSS 2 6THITL(H CHHF W 2 MHLISDH) = 10,000
o LDMeoflWID &L015 & LN60T LnemM (NS 6uifl = 150

® 2 UHET JeM60T UL LIGH &HEHEH G BT &TIe QFaSH SIS0 = -100
e G5 UILNITEOTLD =200

* AMEGLS) = 1,200

A: 9,550
9,550
B: 10,550
10,550
C: 11,550
11,550
D: 12,550
12,550

Correct Alternative:- A

22 Calculate average propensity to consume and marginal propensity to consume when the national income increases from

Rs. 1,100 crores to Rs. 1,200 crores as a result of increase in consumption from Rs. 950 crore to Rs. 1,040 crore.
BI&T6 em. 950 GamIQUIedBHS! em. 1,040 GSHITIQWITS 2 W@HQUTWS!, GFH G I 61(HLOITEOT L MTETS
em. 1,100 GamquieS Bl em. 1,200 GSHITIQWIMTS 2 W HSl6Tengl. FFTEFS] BIsFe] HITL_L LD LDMMILD
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MG Blen6v HST6 BTLL560S 560018 S L 6D ?

A: APC=0.9,MPC=0.8
APC=0.9, MPC =0.8
B: APC=0.8, MPC=0.7
APC=0.8, MPC =0.7
C: APC=0.9, MPC=0.7
APC=0.9, MPC =0.7
D: APC=0.7, MPC=0.8
APC=0.7, MPC =0.8

Correct Alternative:- A

23 What is the type of unemployment if any person who are unemployed with the equilibrium real wage established at W/P; ?

W/P, el6L 2_6voT6t)L0 2ETHUILD FLOBIemeVUI6L 2_6ITeT QLMD S 6TeUGIenILD
GeuemeLUIELEVITLNEN (HIHSH 6L 3i616UEM S LIT6T GauemeuUl6aTemLD 6TeUUTMENLNE S LILI(HLN?

A: Voluntary unemployment
Feorall(HLILI GeuemevuedTeoIln
B: Involuntary unemployment
SeorellBLILILMM Ceusmevuileiremin
C: Structural unemployment

&L LennllL] FHullevmeor Geusmevuileiremin

D: Frictional unemployment

o _gmile] FHulevmer Geauemevuiledremin

Correct Alternative:- A

24 What was determined by the physical or technical condition in Keynesian theory of employment ?
& 6oTenSl 60T GeuemeVEUTUILIL] ML LIMLI9.60T &L LemLIL] 66V & QS T6LEIL LI [Hlemev 6TelMHem m
SrLnmetl& & eoTmSI?

A: Slope of aggregate savings

QsMG Gl sifleay
B: Slope of aggregate demand

QE5MTE& Cxemeu Fiflay
C: Slope of aggregate supply
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Q&G efliiy Fifley

D: Slope of total investment

QMHS Fave] &Fiflay

Correct Alternative:- C

2 Match the following post Keynesian theories with the

name of contributors :

(a) Portfolio theory of demand (i)  Friedman
for money

(b) Transaction demand for (i) Tobin
money

(c) Speculative demand for (iii)  Mankiw
money

(d) Quantity theory of money (iv] Baumol-Tobin

Eeo1erOM @& LIN6tT CHMeaTIL CHTL_LT(H&H6M6T 350605
Cammmiails FexifsEnrL 6 CUT(HSHHS

(a) GumpL..GumedlGuim (i) ~ufl_GLoeor
et 5GCHemeu Gamum(®

(b) uflbrmm CHTES (i)  GLmdiesr
L6t & G & 6mew

(c) oag GHTEHS LetIHEH 606U (iii) Cuer&ea

(d)  uewr gemeysCGamum(y (iv) Gumwev -GLmLileor

A (a)-(1), (b)-(iv), (¢)-(ii), (d)-(iii)
(@)-(1), (b)-(iv), (¢)-(ii), (d)-(iii)
B: (a)-(iii), (b)-(iv), (¢)-(ii), (d)-(1)
(a)-(iii), (b)-(iv), (¢)-(i1), (d)-(1)
C: (a)-(iii), (b)-(iD), (¢)~(iv), (d)-(1)
(a)-(iii), (b)-(ii), (¢)-(iv), (d)-(1)
D: (a)-(iii), (b)-(iv), (¢)-(1), (d)-(ii)
(a)-(ii1), (b)-(iv), (¢)-(1), (d)-(ii)
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Correct Alternative:-B

26 What is called as the process by which an economy moves from the state of disequilibrium to equilibrium ?

@(H QUITIHETTSTILD FLoeTmm BlemevuledBHE &L0Blem6vE @ DMMID LI Bl6meVSH 6T 6T6) 6 MM
6MLPESEHLILI(HLD?
A: Dynamics of Adjustment
QUIES Blemev FFH Q&I
B: Statics of Adjustment
@QUWMRIGIT Blenev FF(HNG&F IS
C: Adjustment in money market
LI60oTEFH6M S [T (H G & L& 60
D: Adjustment in product market

QUL EFBHMSUN IF(HQ &G 60

Correct Alternative:- A

27 What is the main weakness of Hick's theory of business cycle ?
a8 el 6dT eumeodr LG &M &ML LIML 1607 LIeeTeorLd 6T6dT60T ?

A: Both multiplier and accelerator are equal to zero
QU@BSH S MM WH S G Teoor(HCLD LLULISH MG ©)60)600TWLITE D_6TETS.
B: Both multiplier and accelerator remain constant
QUBS: LMmMILD W HESH @ revor(hGLD Blem6eVITE 2_6TeTgl.
C: Both multiplier and accelerator are increasing
QU@BSHE MM WNHESH H W @ Teoor(h G 2 _WI(HLD.
D: Multiplier and accelerator are decreasing

QUGBS LMMILD WHESH U W @ Teoor(hGLD & 6mMmULD.

Correct Alternative:- B

28 What is the major weakness of Hick's theory according to Kaldor ?
STV fl60T FaMmMILILILG e & erdledt Gas ML LIML_1q.60T (LNE S UILDIT60T LI6VET60TLD 6T60T6OT ?

A: Rigid Form of Multiplier Principles
L L0MeoT QILI[HEF) Q& MTeTen 8861

Page 12 of 70


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

29

30

= |V

TEACHERS RECRUITMENT BOARD
Post Graduate Assistants 2018-2019
Subject — Economics
Question Paper — Tentative key
Date of Exam —27.09.2019 & Session - AN

B: Rigid Form of Accelerator Principles
FL gjemLoLiL|eTer NH &S G5 TeTem &8 6T
C: Rigid Form of Super Multiplier
FL gemoLiLeTer Ilemd QLIHES
D: Rigid Form of both multiplier and Accelerator
FL gjemLoLIL6TeT QUIHSH S HmID WH &S

Correct Alternative:-B

What will happen to business cycle if the value of accelerator increases ?

GET IT ON
Google Play

WH SR WIT HLIL| B SHMGDAUITWS! 6UMeool 1L &M LIMeMS 6T6l6UTMI S{6mLOU|LD ?

A: Cycleless Path
FLOLVMM LIMeNS WIS
B: Damped Fluctuation
GCILDSIGUITET | 6DI6V6Y 6T
C: Constant Amplitude
1B16M6VWITEOT SrLp6VMM LIMeM & UITSH
D: Cycleless Explosive Path

FLPVMM QeUL& G CLVGHTEHEIW LTS WIS

Correct Alternative:- A

When will the rate of profit has a tendency to decline in Ricardian Analysis ?

BI&TFCLmal6T LGLUTUIeN6 eTLIQUTWS @6evmU elSsID GenmuL ?

A: Contraction of output and employment

2 MHUSH InMHMID Calemev aUMUILIL] &(HBIGLD QUTWSI
B: Expansion of output and employment

2 MUSH MHmID Geuemev eumulliL] ellifleusm Wb QUITDS!
C: Contraction of sales and output

2 MUSH MHmID jeflliL] &HHRIGL0 QUTWS!

D: Expansion of sales and output

2 MUSH Inmmild el allifleuem b QUITWS!

Correct Alternative:- B
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31 Whose analysis of working of the entire economic organism was referred as the "Magna Charta of exact economics" by

Schumpeter's ?
6TEU(H6D) LU (LD(LDEMLOWIITEOT QIUIMTIHETTSTY HL_LemDLIL] Gauemev LIGLILITUI6ME,
‘QUITIHOTTSMTI LimmIw Frilwimer @MU LML LQ 60T L0STEFTEF6TLD (CLD&60T STILLIT)’ 6T60T
GOLT LMV 6U(Heool1&&LILIL LGl ?
A: Pareto
umflCGLm
B: Leon Walras
6Ol GULITEBT GUITEVIJ TN
C: Hicks
e &6
D: Allen

2160607

Correct Alternative:-B

32 What is the assumption about the level of unemployment in determining the demand for productive resources by the firm

in Walrasian model ?

aumeugmeriledr LMH Flullev p(H BlMIIETSE 60T 2 MHLIGHE aueTmhIg6rfleor G&6m el
Srmefllug ey Ceusmev aumlliLleremin LMl 6T ECSsT6IT 6T6oT6oT 2

A: No unemployment
Geuemev aUMUILILY 6dTemLD @) 6V6m6V
B: Unemployment
Geuemev eumUILILN6dTemLO
C: Structural Unemployment
&L LemlnllL] GauemevuileiTemin
D: Cyclical unemployment

FLOMF GauemevuiledTenn

Correct Alternative:- A

33 is the Leontief's mathematical expression.

e GUUMEDTLY & LILS 60T &FLO[Blemrev 600115 Ul QeadeflliLm@p QG LD.
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A: Linear equation and unbalanced equation
Grlwev FLneTUM(H LMMILD FLoBlemeviMm &Le6dT LT
B: Non Linear equation and balanced equation
FIOEFT FLoeoT UM LDMMILD &FLOBIem6V FLo6oTLIM(hH)
C: Balanced equation and the structural equation
FLOBlemev FLN6TUMH LMMILD SjemLoLiL] &6t T
D: Unbalanced equation and structural equation

FLOBlenevUMM FLO6TLIT(H LDMHMID SjemLnllL] &FL06dTLIM()

Correct Alternative:- C

Which one of the following equation is known as the "Structural Equation" in a dynamic model ?

LfeTau@Ld TS &FLoeoTLM( @) W hiGblene M Flulley “9jeminliL] FLnedrUm(’” eTeor LILI(HILD ?

A: proosZeoos

B nein e
5 = by

Correct Alternative:- C

Why the fiscal and monetary policies are inappropriate to regulate the inflation ?

Leoorel &85 608 &L (h\LILGSSUH 6L GQILMSIBISH LnMMILD LI6toT&HQ & MeTend QUMIHESSDMMSTSH
@\ (H& 5 SHITTEUOTLD 6TEOTEOT ?

A: Working through the alteration of aggregate demand

QEMTGLILS CHemal LDMMMEH 6T eLNEVLD @)L 61 55 T6V
B: Working through the alteration of aggregate supply
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QBTG LIL SeflliL LDTMMEH 60T eLNEVLD @) WLIThIE; 61 85TV
C: Working through the alteration of National Income
GHT W aUHEUTUI LDMMHME S 60T LNV @) UG 68 T6V

D: Working through the alteration in total investment

QDTS S CLNEVS 0TS H 60T LOMMHME S 60T eLN6VLD @) UM (& 61 &6V

Correct Alternative:- A

36 What percent of annual inflation rate leads to achieve price stability ?

2600T(h) LIeooTefs 8 1SR G510 6T60T60TEU TS @) (HIHS ML llemey 2 MIT & &6TenLN6m Ul 600 LU
LU ?

A: 2 percent

2 FH6IGHLD
B: 3 percent

3 55650
C: 4 percent

4 556510
D: 5 percent

5 556150

Correct Alternative:- D

37 When there is fall in consumer demand for goods and services and in business demand for investment goods

will occur.

BISTGAUTT QUITH6T LDMMILD L6tol1858HemeuuLDd, (&SR QILITIHL & 68 86T 6UTeool LIS
GHemaUl]lDd GemMULD QUITRS! gmoU®ILD.

A: Recessionary Equilibrium
LDHS &FLOBlemIeV

B: Recovery Equilibrium
LS Ly Fomlenev

C: Inflationary Gap

Lieoorel g8 @) 6 L_Gleuerf]

D: Deflationary Gap

LIeooTeUTL_L @) 60 L_Gleu6rf]
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Correct Alternative:- D

Match the following :

(a) Govt. Expenditure (i)
Multiplier

(b) Tax multiplier (ii)

(c) Reduction in private (iii)

investment

(d} Counter cyclical (iv)

CQUTHSHHS :

k =

Crowding out
effect

Deficit financing

—
| =i

k =

(a) Sp&lerr QFevey CL(L &S (i)

(b)  eurfl QUL &&

(ii)

(c) Seflwnmy (L&eSE GemmUuL (i)

(d)  e18l] &PMHESE)

Ar (a)-(iv), (b)-(iii), (¢)-(ii), (d)-(1)
(@)-(iv), (b)-(iii), (¢)-(ii), (d)-(1)
B: (a)-(iii), (b)-(iv), (¢)-(i1), (d)-(1)
(a)-(iii), (b)-(iv), (¢)-(i1), (d)-(1)
C: (@)-(iv), (b)-(iid), (¢)-(1), (d)-(ii)
(@)-(iv), (b)-(iii), (¢)-(1), (d)-(ii)
D: (a)-(iv), (b)-(1), (¢)-(i1), (d)-(iii)
(a)-(iv), (b)-(1), (¢)-(i1), (d)-(iii)

Correct Alternative:- C

Don Patinkin Integrates .

(iv)

L_TedT GLIL_1Q 63T 60607 62 (IH 615 60)600T S &5 Sl

A: Price level and money supply

aflemeulnLl_L LD LDMMILD LieooT el

B: Money market and Factor market

FaL_L elenerney

LUMMT&Genm HSHILTSSLD
k = —C

1 - C
T

1 -G
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LIe0OTE&FHem& LoMMILD STI600l & FHemnd
C: Factor market and Product market

S0l & FHem& LDMHMILD LICOOTL. FlHe0 S
D: Money market and Product market

LI600TE&F[H6M S LDMMILD LIGOOTL. FHeM S

Correct Alternative:- D

Assertion (A) : Income elasticity of demand for money is greater than one.
Reasoning (R) : Income velocity is falling over the long run

FaMMl (A) : LI6OOTSBSH6Mm6UE ST 6U[HeUTUI QBHHLLEFF settenm el &\ & L0TeTS
&ITJ6oorLD (R) : eUHEUMTUI 6L L LD [BevoTL. &MevEH 6V LD &FF SjemL B mSl.

A: Both (A) and (R) are true; but (R) does not explain (A)
FaDHmI (A) LDMMILD STFevorld (R) &Eifl ; &HTFeoord Famemnm a6 & alleven ey
B: Both (A) and (R) are true; and (R) explains (A)
FaMm (A) LDMMILD STF6orLd (R) &Il ; STF6eoorD Foemnm eNl6nd: &S m S
C: (A)is true; but (R) is false
Sa Ml (A) &l ; STI6O0TLD (R) Heuml
D: (A) is false; but (R) is true

a0l (A) UM ; STFeTD (R) &ifl

Correct Alternative:- B

Which one of the following statement is not correct in Friedman's Theory

FELN &6 TevILD 6UMeH S WmIG6T6V, LN GLoedr G&mL_LIML_LQ.60T &6UMITeoT 6UMESH LD

A: Interest Elasticity of the demand for money is positive.

LI6ooTS G 606U G TE0T 6UL_ 1Y QIHFHRILDEF CIBITLO6M M UITEOTSI.
B: The demand for money would be affected by the changes in Real Income.

L6001 5 G 556061 UL 0TS 2_600TemLD aU([HeUTUIlev gFMLIBILD LDMHMEH 60T mev LIMTH & & LIL(HILD
C: The demand for money changes directly and non-proportionately with the changes in money supply.

L1600T8 G & 6m6UE & T60T LDMMMLOMErg! Lisvor 6rf1L1L6L eFmuBGID mmHmECsHT(h
GBI UWTEHLD NRSTFFTTLD SHMSTSH|W MTNILIGHSMS.

D: Demand for money is influenced by rate of change in price level.

aflemev DL L &H6L LG &G ImmHmLD, LIcooTsHMEmer CEHemnelullel S5 m5
JOUBHSSH DS
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Correct Alternative:- C

42 The term 'narrow money' refers to :

'SOIG WI LievoTLD' 6TedTm) &M & &LILM6US :

A: M,
M
B: M,
M,
C: M+M,
M;+M,
D: M;
M3

Correct Alternative:- A

43 Patinkin's Real Balance Effect is synonymous to :

LITL_ 19 60T S 60T 26U ss6rfledr 2 _svoremin @ @pLIL] ellenremCoum(h &S @@BLILIS! :

A: Pigou Effect
& allemerey
B: Cambridge Effect
Ca LN allemerTey
C: Multiplier Effect
QUBHES: allemereay
D: Wealth Effect

Q&F6vel allemereay

Correct Alternative:- B

44 The formula for High-powered money is :
SMHM6L WG LI6ooTSH S 60T FLo6eoTLIM() :

A: H=C+ptr
H=C+p+r
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B: H=RR+r+I
H=RR+r+I
C: H=RR-CR-C
H=RR-CR-C
D: H=C+RR+ER

H=C+RR+ER

Correct Alternative:- D

45 The outside money represents the liabilities of :

QeuerflmLI LI6ooTLD 6T60T LIS QUMMILILIS&&Hem6T LNTHLeN &SR 6T

A: Central Bank

600 QUMRIG
B: Commercial Bank

66001 & 6L
C: Public

QUITSI LD& 86T
D: Government

SITEFMMHIGLD

Correct Alternative:- D

46 If the monetary unit has no intrinsic value, it is called as
LI600TS &) 60T eMH MG, A&IFLIL| @6\)6\)”@@!}55”6\) 3|5l 6T60T |6MLPE & LILI(RID

A: Metallic money

2 G6uM& LI LI6DoTLD
B: Token money

|60 L_LITEIT L1600T LD
C: Legal money

FLL(p6mM LI6OoTLD
D: Near money

S([HSHITEOILD LI6TOTLD

Correct Alternative:- B
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47 In India, the present system of Note issue is based on :

@QbBSHWTalev &TH S Lisoorld QeuefluiL MH&EMeLEH 6L LesTLmMLUILIBID (LM :

A: Maximum Fiduciary System
2 && eI BLOLING&HS S L LD
B: Minimum Reserve System
GBS 166 SITLIL| LPEnD
C: Proportional Reserve System
ai% 26me & SITLIL (LN M
D: Fixed Fiduciary System

alemIWenm QFUIS BHIOLINGH&HS HL_L LD

Correct Alternative:-B

48

Matich List - 1 with List - Il and select the correct answer
using the codes :

List - | List - 1l

(a) Bank rate policy (i) Moral suasion

(b) Buying and selling of (i)  Cost Reserve ratio
securities

(c) Keeping certain (iii)  Minimum lending
percentage with Central rate
Bank

(d) Advice given to (iv)] Open market
Commercial Banks operations
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UL 1 u16 |-WLD, UL 1qwieD l-b Qumm & £CLé Qer(ssuuuL (Derer

@MW semer Camesor(y Filwmen udHenev CaHIHESH®H :

LIL_lg U6V |

(a) eum& afgs QsmaTemns

(b) euTEGMIS EL B EHemen

QUIMMRIG S 6L LLOHMILD eIMLIET 6uT

(c) emwLW URSUILLD 6(h

GOUILL afs &8s
EMEULILITS 616U &6V

(d)  euU6mNS UMIS S EDLHE

STULGLD SiMleei

GIILIC)

A

(a)-(iii), (b)-(iv), (¢)-(i1), (d)-(1)
(a)-(iii), (b)-(iv), (¢)-(i1), (d)-(1)
(@)-(1), (b)-(ii), (¢)-(iv), (d)-(iii)
(a)-(1), (b)-(i1), (c)-(iv), (d)-(iii)
(a)-(iii), (b)-(1), (c)-(ii), (d)-(iv)
(a)-(iii), (b)-(1), (¢)-(ii), (d)-(iv)
(a)-(ii), (b)-(iii), (¢)-(iv), (d)-(1)
(a)-(ii), (b)-(iii), (¢)-(iv), (d)-(1)

Correct Alternative:- A

is called as conventional money supply.

UL lguiev I
SIDIeIMISHS 6L
AUy efgLd

GMMHGLL & eunmid afgLd

Qlevefl QMG HL 6)l HENS

6TedTLIS Lo Ljeuldl Lieoor 3jerflLiL] eTedTmemLna 8L (ID.

Currency + demand deposits + other deposits

QUM&ESHLD + C&MLL] 60m6ULIL&6T + LM emeuliL| 86T

M, + savings deposits with post office

M; + 9 EHFeL HlemmuilaeTer CFLALIL| emeuLIL|S 6T

M; + time deposits of banks
M, + QUBIT &6ITIL (LNGITET &IT6V 60)6)L1L| & 6T
M; + total deposits of banks
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M; + eUBIG G 6L (LN 6T QDTS S 606U L 1L 86T

Correct Alternative:- A

50 When the Central Bank purchases securities under open market operation there will be

Qeuer] MBIGTIY [HLEULY &0 UL eMLDWIGUHIS &L 60T LIGSH I IS 6eM 6T 6UMHIGW0 QUITLS!

A: Increase in money supply
Leoor erflliL] o1& & Ifl6 @0
B: Decrease in money supply
Li6ooT eIl Gemmu]Lb
C: Increase in savings
Crilliy 9F\ &l G0
D: No effect in money supply
Lieoor erflL1L96v eTeuall s allememald @ (HEH&HMTS

Correct Alternative:- A

51 For which function, money is accepted as unit of Account ?
L1600T 8 &) 60T 6T [5G LI6oor|UIl60T 85T [J600TLO TS 2| &560)60T 8560078 T 60T {6V T 6 MM

Q&meTeT LGS M ?

A: Standard of value
S LILI6Te)]

B: Medium of Exchange
LDTMHMI 6DLOWILD

C: Standard of deferred payments
&L_60T QUITMILILIETEY

D: Store of value

LOGILIL| [B]65)16V8 5 6T60T

Correct Alternative:- A

52 The agencies responsible for the creation of money are :

(a) Treasury
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(b) Central Government

(c) Commercial Bank

(d) Individuals

Choose the correct answer :

LieooT 2_MmUSHemWl g HLIBISSILD QUTMILILNEVIETET (LN&EUTE6T

(a) &HHAWLEVLD

(b) DSH W S|TFMTMHIGLN

(c) 6U6D0I18 GUHBIG)

(d) &eofl LTS 6T

gflwmeor ellemLenwl &I HG & (&5 6)]LD.

A: (a)and (b)

(a) LDOMILD (b)
B: (b)and (c)

(b) LDHDILD (©)
C: (a), (b) and (c)

(a), (b) LDODILD (c)
D: (a)and (¢)

(a) LDMDILD (c)

Correct Alternative:- C

53 The period of short-term loans given to the Government by the Central Bank is
MO QUG ST&FHH G GMIGH U &ITeV &L_60T 6IT|L1LIG 60T &HITEV 3 6IT6)

A: Not exceeding 15 days

15 BML&HEHEEG CLMLILTHS!
B: Not exceeding 90 days

90 BITL&HEHSHGS CLMLILMTSHS!
C: Not exceeding 100 days

100 BTL&EH& &S CLOMLIL MTHS!
D: Not exceeding 365 days

365 BITL_&EH&HEGSG CLOMHLIL TSI

Correct Alternative:-B

54 The interest rate at which Central Bank lends commercial banks is .
MO QUMI), 61600118 QUBIT & EHEE &L 60T |6l @G0 UL Ly 6f%LD eTeoTLILI(H)LD.
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A: Market rate
SBIGMY a5l

B: Discount rate
&le| efsh

C: Credit rate
&L6or i L0

D: Concession rate

FNMS 7510

Correct Alternative:- B

Match

(a) Representative Money
(b) Credit Money

(c) Legal tender Money
(d) Cheque

QUM S SIS :

(a) &MY L6TTILD

(b)  SL_6oT LI6BOTLD

(c) &LL(Lp6mM LIETITLD
(d) &sTCFTEmEL

A (2)-(ii), (b)-(1), (¢)-(iid), (d)-(iv)
(@)-(ii), (b)-(1), (¢)-(iii), (d)-(iv)
B: (a)-(iii), (b)-(iv), (¢)-(1), (d)-(ii)
(a)-(ii1), (b)-(iv), (¢)-(1), (d)-(ii)
C: (@)-(iv), (b)-(i), (c)-(iii), (d)-(1)
(@)-(iv), (b)-(i), (c)-(ii), (d)-(1)
D: (a)-(ii), (b)-(1), (¢)-(iv), (d)-(iii)
(@)-(i), (b)-(1), (¢)-(iv), (d)-(iii)

Correct Alternative:- D

(i)

(i)
(i)
(iv)

Bank Money
Token Money
Near Money
Fiat Money

SUMISILILI6TOTLD

60 L ILITOTLILISTOTLD
2A(HSMEOLD LIGTITLD
&L_L_6M6rLl LI6SITLD
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56 Deposits that can be withdrawn by cheques are called as

HTCF M6V CLOVLNTE T(h&H&HSH FnlQ ULl 60)6ULIL|FH6T 6T6OTMI S eMLP&HSHLILI(HLD.

A: Recurring deposits
QSITLT 606ULIL|&H6T
B: Time deposits
&6V 606ULIL| 86T
C: Fixed deposits
Bl6m6V M6 LIL| 86T
D: Demand deposits

G&L_L| 606ULIL|&H6T

Correct Alternative:- D

57 The objective of the IMF is to remove .
IMF @)60T (& M) & G&smeiT LGOI

A: Short term equilibrium in the Balance of payments of member countries

2 mILIL] BT(H&6 6T HBHIW QFaNSHS! Bleneuulleh @M W &Mev FLOBleneveml
B: Short term disequilibrium in the balance of Payments of member countries

2 milIL] BT &660T BB Q&S S Bleneuuilev [HeoorL_&Mev &FLObBlemneuMMm H]60)16V60) I
C: Short term equilibrium in the balance of trade of member countries

o2 milIL] BT{H &660T HBIW LTSS &FL0 BHlemevulley GmISH U &TeV FLOBlemevem UL
D: Short term disequilibrium in the balance of trade of the member countries

;guuu BT S6fler UBHBIW s 58 SFLBlenevuilsy GmIS W &ITev &FL0Blenev W Hm

60Y6V60) WL

Correct Alternative:-B

58 The new scheme that was evolved to solve the problem of deficit in international payments of member countries is

2 miliL BT &660T BB QFaES Blemevwlley 2 6TeT LIHMMEHEGenm LI JFaeamerenl GLITEH S
Q& mevoT(h ULl L LUHw S LD :
A: SDR (Special Drawing Rights)
SDR (A\mLiL] eT(RILIL] 2_[flemLn)
B: SAF (Structural Adjustment Facility)
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SAF (&L LenlnlIL| MBS FifleL L6V eusFH)
C: ESAF (Enhanced Structural Adjustment Facility)

ESAF (GUMGSSLILLL SLLemWLIL &FTiHS FlHL L6 auFH))
D: Enlarged Access Facility

allfleumg b QUMM Henpe|flenin ausH)

Correct Alternative:- A

General agreement on trade and tariffs is based on the principle of .
QUITEoOT ILILD LOMHMILD & BIG 6Uif] LG TeoT QLIS 62L1LIB S LTS
S LILiemnLuflev 2 _6TerTs .

A: Reciprocity
LgenuyL

B: Non Discrimination
LUTrUL&LleTemLn

C: Discrimination
GeummiemLn

D: Both Reciprocity and Non Discrimination

LIFenuUFD lnmmid LmyuULlgLlletenin @) revor(h LD

Correct Alternative:- D

GET IT ON
Google Play

Q& meiTet & Il 60T
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Match the following :

(a) International Monetary (i)
Fund

(b) Compensatory Financing (ii)

(c) General Agreement on  (iii)
Trade and Tariffs

(d) United Nations (iv)
conference on Trade
and Development

QUM S SIS

(a)  ueoteorL_ (i L6voT KIS (i)

(b) FEA&LILD HF (i)

(c)  eumewuNULD LOMMLD &MIS (iii)

U HSTEST CILITE)
@UUBSLD

(d) &&W B sefsr (iv)
66U &LD LOMMILD

euenT&S rpTQ

A (a)-(ii), (b)-(1), (¢)-(iv), (d)-(iii)
(a)-(ii), (b)-(1), (¢)-(iv), (d)-(iii)

A Bargaining Forum
to negofiate
lowering of Trade
and Tariff

International
Monetary Fund
lending for the loss
of export earnings

Forum for less
developing
Countries

An arrangement
between European
Economic
community and 46
Countries.

EUMETUTILILD LOMMILD &kl & 6]

GO MULSGG CUEHUMTHMS HL G
GUILD CUESFalq LI S{6MLDLIL
ueotesTmL (b Lewur Bl &) eJMHMILOS)
6u(meumuilev eFMu(bLD
HeL & SIMSTETT &HL_60T

eUATTES G6enmbHS HT(H S EFSSHMeoT
S6MLoLILY

e Crmuw QUIT(H, TS T FELOSLD

LOOMILD 46 BIT(H S E5HS
@enL Guiwimest goum(p
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B: (a)-(ii), (b)-(iv), (c)-(1), (d)-(iii)
(2)-(ii), (b)-(iv), (¢)-(1), (d)-(iii)
C: (a)-(iid), (b)-(ii), (¢)-(iv), (d)-(1)
(a)-(iii), (b)-(ii), (¢)-(iv), (d)-(1)
D: (a)-(ii), (b)-(iii), (¢)-(1), (d)-(iv)
(2)-(ii), (b)-(iii), (¢)-(1), (d)-(iv)

Correct Alternative:- B

61 Consider the statements :

(a) Taxation and spending are the two important fiscal instruments which the government can use to influence the
allocation of resources in the economy.

(b) Under the allocation function, taxes and expenditures are designed to transfer resources from the satisfaction of private
units to that of public units.

G LD 5 856007 Fo (N M1 G 60I6T S>61 6071 :

(a) auf eI DM MILD QUM Q&F6v6| @ Tevor(hLD BIHIUI WL Q& meTendUN6T (LSS W & (H6eN & 6T
G0, @S LWTLUBSS), T8 QU6THIGE6T 68518550 GlFulu]n Lieoofluiley Seorgl

A EHSHMS OFWLLHSHS R DS

(b) CUETTBIGEN6T RSI6EHE ([ G&F I Lieoolulley, auifl elGILIL] InHmID QLTS Q&F6evey
AHUMEUGMET H55 (LN MUV emng Sl HeoflBLIT CHemel Blemmemneal GLIMSICSHemel
BlemmeUms LDMMMEVITLD.

A: Both (a) and (b) are false

(a) LDMHMILD (b) &EUMITEOTEN 6L
B: Both (a) and (b) are true

(a) LDMHMILD (b) FflwlmeoTemeu
C: (a)is true and (b) is false

(a) &ifl nHmILD (b) Heum
D: (a)is false and (b) is true

() SEUDI LDHDILD (b) &)

Correct Alternative:- B

62
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Match List - | with List - Il and select the correct answer
using the codes given below the lists :

List - | List - 1l
(a) Canon of Economy (i) Approvdl
(b) Canon of Sanction (i) Avoidance of Deficit
(c) Canon of Surplus (i)  Minimum cost
(d) Canon of Benefits (iv) Social Advantages

UL 1qU16D | 2 L 63T UL 1quisd Il U QuT[B &), UL g UI60&Eh&E $CLD 2 6Ten
CI&TGUINON B H& FilwmeT edlenL Wilenesd gl CFILS :

UL lg W6V | LIL_lgWwiev I
(a) &&se g (i) SO &)
(b)  SiIng alg (i) UDOTEGODENW SIS S 6L
(c) 2ufl elld (i)  GMDHS ClFeveY
(d) meTend al&) (iv) &(OSTIW HETENLD

A (a)-(iii), (b)-(1), (¢)-(ii), (d)-(iv)
(a)-(iii), (b)-(1), (c)-(ii), (d)~(iv)
B: (a)-(iv), (b)-(i1), (¢)-(1), (d)-(iii)
(@)-(iv), (b)-(i1), (¢)-(1), (d)-(iii)
C: (a)-(1), (b)-(ii), (c)-(iv), (d)-(iii)
(a)-(1), (b)-(i1), (c)-(iv), (d)-(iii)
D: (a)-(ii), (b)-(iv), (¢)-(iii), (d)-(i)
(a)-(ii), (b)-(iv), (c)-(iii), (d)-(1)

Correct Alternative:- A

63 Which of the following statement about Fiscal Responsibility and Management Act is True ?

(a) Transparency in Fiscal Reporting.

(b) It makes clear and distinction between current and Capital Expenditures.

(c) It fixes targets for reducing fiscal deficits.

(d) It makes relaxation from deficit reduction targets to deal with unforeseen crisis like natural calamities.
BISuUNWw6eL QUITMILIL] LDMHMILD GLOEVTEToTemN FL_L LD Q&ML IJLIMT60T SLDE 5 600TL & ([H& SIS 6116V
2_600T6M LD WITEOTEm6U WIT6mI6Y 2

(a) PIHWINW6L MG saatlev QeaueflLienL SeTenLn
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(b) @& BLLIL| LDMMILD N6V S 60T GlF6eVe|&erflev Qg erflaumer GeumiLm(H&Heme6T Gl&F Uig ey
(c) BIHUWNW6EL LIHMITEGHMME G 66 &Hem6T & L0mesi18 860
(d) LUMMTEHGNM GHMMLIL| 36TeU s EH&HES CHF W CLTLle] &TevsHev allG allevs & 3j6fls s 60
A: (a) only
(a) LDL_(hILD
B: (b)only
(b) LOL_@B)LD
C: (c)only
(c) DL_(hLD
D: (a), (b), (c) and (d) only
(a), (b), (¢) LDOAILD (d)

Correct Alternative:- D

64 What are principles of Debt Management ?

(a) Low Interest cost

(b) Co-ordination between public Debt, Fiscal and Monetary policies
(c) Satistying the need of investors

(d) Funding of short-term Debt's into long-term Debt's

&L60T GLnevmevorem Lo 60T G M5B TET Wmeme 2

(a) GOMBHS 6UL_LGUN6V 5L 60T Q1LIMIS 6V

(b) QUITSIE & L60T, Ufl&HE & MeTemn s LDMMILD LI6toTE: Q5 MeTem 858 EHE T 6m L CUl 628 SI6MLOLIL |
(c) WSS Lmerflett GHem6UGHemMeT LTSS Q& Uis5e60

(d) GOIT W &5TeV &L_6m60T [H600TL_85T6V &L_60TITE LOITM MIS56V

A: (a)only
(a) LDL_(H)LD
B: (b) only
(b) LD
C: (c)only
(c) DL_(H)LD
D: (a), (b) (c) and (d)
(a), (b), () LDOMILD (d)

Correct Alternative:- D

65
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Match the following :

(a) External Debt (i) Review of all subsidies
(b) Expenditure (i) Repayable in Foreign
Reforms commission Currency

(c) Fiscal Responsibility (iii) Cash
Management Act

(d) Open Subsidies (iv) Transparency in Fiscal
activities
60T 62 (T euTOUM DM GILIT (S HIS
(a) SWeLBHTL () HL60T (i) S{6M60TS G| LOT6TTILI S 60)F UL|LD

Slle] CFILag)
(b) Q&evey FTH(HSS gememnud (i)  HUOBTL (D La§Heng (LI

€15 8015 Sl
(c) B UML) LHMILD (ili)  L6wITLD
GLOELTETTTENLD FL_L LD
(d)  (LPplg.eIl6LEVT LOMETTILILD (iv) HHUNIEL BHL 6 &0 &S6T6L
HoHs (LLemD

A (a)-(iii), (b)-(iv), (¢)-(1), (d)-(ii)
(a)-(iii), (b)-(iv), (¢)-(1), (d)-(ii)
B: (a)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
(a)-(1), (b)-(i1), (c)-(iii), (d)-(iv)
C: (@)-(ii), (b)-(1), (¢)-(iv), (d)-(iii)
(@)-(ii), (b)-(1), (¢)-(iv), (d)-(iii)
D: (a)-(iv), (b)-(iii), (¢)-(1), (d)-(ii)
(a)-(iv), (b)-(iii), (¢)-(1), (d)-(ii)

Correct Alternative:- C

66
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Match List - | with List - Il and select the correct answer
using the codes given below the lists :

List - | List - Il
(a) Internal Debt (i) Relief during Flood
(b) Unproductive Debt (iij Domestic Bond
(c) Redeemable Debt [iii) Individuals committes
(d) Private Debt (

iv] Government committes
suflen & (I) 2L 61 suflend (Il) — o6l QUITHSHEH euflend &En&E S0
CamGasULL (herear (&m@ LU0 (B h& Fifliimer ellenLenil Cgfley C&FILs.

euifleng - | suflemns - Il
(a) e_enpm(h SL60T (i) Gleuerar smeu g &lev G&M(H &H@LD
LI6B0TLD

(b) emusdHulleveom sLeor (i) 2 eThTL () umssor(h

(c) &Swpull geM&Ess (iii)  SeofllMT 2 HFHFEUTHLD
Folq LI &L 60T
(d)  Seofllmy &L 60T (iv) SIT& 2. 5576UTHLD

At (a)-(1), (b)-(iv), (¢)-(iii) (d)-(ii)
(@)-(1), (b)-(iv), (¢)-(iii) (d)-(ii)
B: (a)-(1), (b)-(ii), (c)-(iii) (d)-(iv)
(a)-(1), (b)-(i1), (c)-(iii) (d)-(iv)
C: (@)-(ii), (b)-(1), (¢)-(iv) (d)-(iii)
(@)-(ii), (b)-(1), (¢)-(iv) (d)-(iii)
D: (a)-(iv), (b)-(iii), (c)-(ii) (d)-()
(a)-(iv), (b)-(iii), (¢)-(i1) (d)-(i)

Correct Alternative:- C

67 Consider the following statements :
Assertion (A) : Deficit financing leads to inflation particularly cost Inflation and wage Inflation. In such a situation prices
rise more rapidly than Incomes of certain groups of people and their consumption in real terms is diminished.
Reason (R) : Deficit financing can be employed for the development of economic and social overheads for providing
socially useful capital to break structural rigidities and thereby to increase productivity.

BLDESHTEDIN 6)TEH DS UIMBIEM 6T & 66l :
FaHml (A) : LUHMTEGMM IS allemev gHMmEMS g HLMSSH R M. GMILILITSL QIUITIHL_&6rfl6or
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aflemev LDMMILD 8x60l FHMLD CLIMETMEMEIGHET. @ HS GLDBlemevuilel GemMmbS aUIHEUTUI 2_6TerT
Flev LN1fley D& GerfletT auBLOmeTdHems el allemevs: 6T FEGINTH LD 2 WTHS!, G 60TV,

2jaUGerfler Bis 6| G M.
SITJ6oorLD (R) : QUITIHETTSTT (LPeTCrmmMEHMEGLD F(ULNS T 319 L1LIENLG6D6T 2_600TL T8 86D

LMMTEGenM BISH LwWeaTUOQS mE. @HS BIS) &FUNS T CLNEVSE0TLOME 6D 19 LILI L
SL LWL LNT&FenersemeT &emnevbdl 2 MLUSHen SH&FEHRmS.

A: (A)is true
(A) &1f]
B: (R)is true
(R) &1fl
C: (A)is true, and (R) is the correct explanation of (A)
(A) &1fl (R) eTedTLIGI (A) &G FIIWITEOT &ITJ600T DTG LD.
D: (A) is true, but (R) is not correct explanation of (A)

(A) &1fl (R) eTedTLIG (A) && Fflwiment &ITyevorLileven ey

Correct Alternative:- D

68 Consider the following statements :
Assertion (A) : Public borrowings are justified because, funds cannot be raised by taxation alone. High taxation creates
dissatisfaction among the people.
Reason (R) : Public borrowings aggravates Inequalities in the distribution of wealth in the society.

GO GG TVILD 61T 5 ULIMIS 06T 86601 :

Famml (A) : eurflwimey L HIGL BIHemwl 2 Wi S (P WMS. CLosviD, S &LInmet euiflulmey
D& 86T B HLIS 6L UMTIE6T. A5G, QUTSIESHL 6T BlWMULILUGSSIUOSR .
SMTJeoorld (R) : FUPSTWESH 6L QF6v6l CaumILITL 6L QLIMSIHEL 6T H&LILIH S SILD.

A: Both (A) and (R) are Individually true and (R) is the correct explanation of (A)

(A) LDOHMILD (R) @ Tevor(HLd &ifl. Goayild (R) eTedT LIS (A) D& & IflULT60T & ITJ600T L& L0
B: Both (A) and (R) are Individually true but (R) is not correct explanation of (A)

(A) LDMHMILD (R) @ Tevor(HLD &FIfl. 24,6016V (R) 6T6dTLIGI (A) oMM & Fifluimeot &I revorLilevem ey
C: (A)is true but (R) is false

(A) &1fl 2pe0TITeD (R) H6um)
D: (A) is false but (R) is true

(A) BaUmI Q,60TMeL (R) &1f]

Correct Alternative:- B

69 Which of the following is/are wrong in relation to Remedy to Social Security Finance ?
LY edTeuheueTeumMmIeT Felnss Ll LIMSISTLL BIS LNp&Femners @ e LimmIw Selmmerenel 6! /
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6Tem6l ?

A: Need to establish financially autonomous system.
B HeoTeot T & (Lpenm CFHemel
B: Use of general funds to subsidize social security can create equitable system

QuUTE BIHenw Wmeofluib W&HE Fend LIMSISTLIL S LSH MG LWeTLUHSSI6US FLOL0meoT
(LDEDYMEDU 2_(HEUTE G LD

C: An Increase in the retirement age may be beneficial

@UI6| QLMD QWS 2 WFHSIG) FeNg LIMTSHISTLIL LiwerTmetlseha @ HeVevs)

D: Restructuring of Social Security Schemes

Fens LUMSIGTLL S LSS oM Frmule) Q&Fulgsev Galevor(hLd

Correct Alternative:-B

70 Consider the statements :

(a) The essence of a budget is the balancing of revenue and expenditures
(b) Budgeting is a means of policy Implementation.

G LD 5 856007 Fon (D M) G 60I6T G561 6011 :

(a) QU6 — QF V6] HIL_LSH60T 319 L1LI60L 6UIHeUTEN WD QFeVemaIULD FILILMR S SIS G LD.
(b) Q& TETENSHSHEMET QFWLIHS SIS Q16| - QF6v6] HL L LD 3LGLD.
A: Both (a) and (b) are false
(a) LDMHMILD (b) HEUMITEOTEN 6L
B: Both (a) and (b) are true
(a) LDMHMILD (b) FflulmeoTremeu
C: (a)is false and (b) is true

(2) S6UDI S60TTEV (b) &Ff]
D: (a)is true and (b) is false

(a) &1l QhE0TITEL (b) S

Correct Alternative:- B

71 Which of the following statements about Food Subsidy is TRUE ?

(a) Subsidies through support Price
(b) Subsidies through PDS

(c) Subsidies through FCl

(d) Above All options
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G LD & 856007 L_6U M MIET 2_600T6) — LomeoflulLd LMW Gemnilev 618 &Fiflulmeoremey ?

(a) S5 T6] allemev eLpeVLD LomeoflulLd

(b) QUGS LRIGL (A HIL_LLD eLpeuLd LOmeotlwih
(c) @IS W 2_600T6) &5L0& LD eLN6VLD LoMeoflulLD
(d) GLDM &H600TL |6D60TS SN

A: (a)only

(a) LDL_(HILD
B: (b) only

(b) LL(hILD
C: (c)only

(c) DL_(HILD
D: (d) only

(d) L (LD

Correct Alternative:- D

72 Consider the following statements :

Assertion (A) : Budget should involve monitoring and evaluation of the continuing programmes and projects and
elimination of uneconomic and unproductive activities. Therefore, objective budgeting can be possible only when the
executive is equipped with adequate authority and facilities.
Reason (R) : Chief executive should be provided with full authority and adequate facilities required. He should be provided
with adequate and trained staff and proper office. He should monitor and Evaluate progress of the various projects being
executed.
GLDE G TEILD 61 T8 S UG 6M 6T &6t :
FaDml (A) : BIHBlenev SMEems 6TaTLIG HILLBIG 6T (NemMUWTE WHLILTH QFUIS 3|5 60 60T
S|6UAILIQLITD S 560075 T600T 188 Gauevor(hLD. 3jelelmm Q&L QUTWS!, GFHemeuulmm LDMHMILD
2 MUSHUNLEVTS HLAUIGHNES6T HEHLILIGILD. L LHIsGen6T QFueLI(H &SN
BITeUTR & EHE&E G &MTIHIGEHLD UFFHEEHLI QFUIS STLUILL Ceueor(hLD. L ICLIMTSIS Mo
BIS Blenev M8 em s uller &mleCsasmeT BlemmGeumiLD.
SMTJeoorld (R) : B L &G 60T H6m6vemln SFHEMT5 G 66etTs S 6UFH&HEHLD, 3|5 & T MHISHEHLID
QIPMRIGLILIL Galeoor(hld. 3jeUHEHE& LWIMEAL QUMM 2emSUITSHEBLD SeV6U6V8 (LOLD GULNMHISLILIL
Geuetor(HlLD. iU B L QFW6EY QL,E5HHME LU16] QFUIS IDFILT L 6fl&Ha eumulliL
gmu(ILD.
A: Both (A) and (R) are Individually true, but (R) is not a correct explanation of (A)

(A) LLOHMILD (R) @ Tevor(HILD Ffl. GLogILd (R) eTedTLISI (A) D& Frilwimeot el6msasL06v6v.
B: Both (A) and (R) are Individually true and (R) is the correct explanation of (A)

(A) LDMHMILD (R) @ Tevor(HiGLO &Fifl. GLogvild (R) eTedTLISI (A) el D& Fiflwimeor ellemd & LD.
C: (A)is true but (R) is false

(A) &1l SpeTTeL (R) S

D: (A) is false but (R) is true
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(A) UM he0TMev (R) &1

Correct Alternative:- B

73 Find the odd one out with regards to war finance and development finance :

GUTH BIH LMMILD eueTFFS BISH LM §Lh &85 mevoT LIeoTel MHmI6T QUITIHESHDMMENSHEH
SO G &.

A: Both involve mobilisation of resources on a large scale
@ TeooT(M G QW jeTelev eueTmIsGemeT S\ (h &) 6dT m 6T
B: Both result in inflation
@ 60T LD Lietoreis: 88 6m8 ML &SI
C: Both for Growth purpose
@ T6ooT(HCLD GUETTEDR &MTIe0TSH METSH
D: Both impose an Economic burden

@ T6ooT(Hh GLD QUITIHEMTTH T FeLD6MW 2_UIJSHSILD

Correct Alternative:- C

74 Which of the following statements about Anomalies of central-state Financial relations is TRUE ?

DS — OMTHI6V 2_M6) G660 2_6Term (6ot LIMH&6r160 & L& 8 600TL Fo.M MG 6160 &iflulmerenel
6Tem6 ?

A: Overlapping role of Planning Commission over the Finance Commission
BIE&Gwamal il 2458 AF&ETTHMS FILL S THSHS! QHMETS!
B: Increasing Dependence of the states on centre
MO S|TeM& LDMBlIeVHIGET FTFHH (HHGL CUMH G 35 &S 6eTens!
C: Misuse of Constitutional Provisions by Both Central and State Government

STFW6L 6oLl U SBemeT &S W LDMHMILD LOMHI6V J&&H6T HeUMmTa L 6dTLI(H &SI &6V
D: All of these

@) 6M6U I M6TSHGILD

Correct Alternative:- D

75 Consider the following statements :

Assertions (A) : The Institution of Finance Commission should be made permanent with a permanent secretariat and office.
Having determined the quantum of grants for each state, Finance commission should undertake periodical revision, in the
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GET IT ON
Google Play

light of performance both in respect of resource mobilisation and programme and their actual progress.
Reason (R) : Economic reforms have put additional burden on the states in terms of Increased expenditure on

Infrastructure, health, education and social safety.
GLDE G ITEILD 61ITE S U MBI G 6M 6T &6l :

FaDm (A) : BIH &G W6l BIFHST LIS ITMHM SHMH&HTEH QF W6V LDMHMILD
INQIVEHSNS BITHSTLOMS 360088 Caustor(hLD. LOMBlevmigserfler S L higserflesr
QEWLMTH&ET ASMETSH S6fléamLILL L BIS GLITET M6 6USH 06T 6l 6UTIHEHITEV 3 6mellaild
S U10|QF IS, 3IFME& ML, LDMBl6VEISEHE G BB el STnmels s Geauesor(LD.

&ITJ6oorLD (R) : QUITHETTSTT TS (H& M &6T LOMHI6VMHISH 6T 60T QUITHETTSIT & 60)L060) U]

ST &G TESH W 6TTE. GMILILTSE, L LILIemL S LemNLIL&H6T, 2 L 6VHeuld, Sevedl, LnMHmih
Fens Ll LIMSISMLUIL GUITETM SI60Mmas6rt16dr L0MBlev O J&-86rfler B1%) &emln 25 &5 Si6Tensi.

A: Both (A) and (R) are Individually true and (R) is the correct explanation of (A)

(A) DMHMILD (R) @ Tevor(hLd &ifl. Goavild (R) etedrLISI (A) el @& siflulmeor eflemg s

B: Both (A) and (R) are Individually true but (R) is not a correct explanation of (A)

(A) LDOHMILD (R) @ Teoor(MGLo &Fifl. Goavild (R) eTedrLIG! (A) D& &Fiflulmeot ellemd: s L0606V

C: (A)is true but (R) is false

(A) &1f] 946016V (R) HoUD!
D: (A)is false but (R) is true

(A) H6UDI 60TV (R) &I

Correct Alternative:-B

Tax levied by municipality are .
LTHSTTLAWM eFH &L euifl]

A: Land tax

Blev eurfl

B: Property Tax

Q&T5E I euifl
C: Water Tax

&6vor600! [ 6uIf]
D: Sales Tax
el LIeneor eurf]

Correct Alternative:-B

Consider the following statements :

(a) Tax is a compulsory contribution to be paid by every citizen, whereas price is to be paid by only those persons who
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purchase services of goods from the market
(b) Prices are voluntary payments, whereas fees may be compulsory contribution for special services

FBLOGH G TEVILD 6UTHH LSS 85616011 &H 5

(a) UIf] eTEOTLISI @R6UGAUT(IH G519 LN&HEBILD SH600TLY LILITS S|T&HEE 6 Fa&HE Gauevoriq Ul LImigerLlL]
LG LD. 31,6076V, eleMmev 6TeTLISI FHem S UIl6L aUMMHIEGLD QUITIHLG6T LDMHMILD CF 60618 E@H5H&H M5
QFNSHLILIMGILD QHTemns UITGSLD.

(b) llemev 6TETLISI &FWILDMTE QEFNGS FnlQUIGI. 60TV, &L L600TLD 6T6dT LIS &60flLILIL L
CFMISHEHHHTH QFNGHSHLILIH IS LG LD.

A: Both (a) and (b) are true

(2) LODILD (b) @TevorHILD Fif]
B: Both (a) and (b) are false

(2) LDOODILD (b) @TevoTRID SHeu
C: (a)is true and (b) is correct explanation to (a)

(a) &if] (b) eTeOTLISI (a) && Fiflwimeor eNl6eT&H &0 3L, & LD
D: (a) is false and (b) is not correct explanation to (a)

(a) UMl (b) eTedTLIG! (a) &@& Fflwimer aflemTg: s 3j6V6v

Correct Alternative:- D

78 The concept of 'Poverty line' was introduced in India by

‘aumienld CHIT(H)’ T 555161565 @)H S W mailey g@@&uu@g@wg .

A: Planning Commission Report in 1947
1947 - 941D 21,600T19.60T B L &GS SMl&ems

B: Indian Economic Analysis in 1971

1971 -94LD 2,600T1q 60T @ HSH I QUITIHETTSTT 3416
C: C.S.0.in 1956

1956 -@6L C.S.0.
D: None of these

@e6umN6L 61316 LD @)6L6tI6V

Correct Alternative:- B

79 The growth rate of Net National product during the Eighth Five year plan was
6T LITeugl 8368 mevor(h) S LGSH 6V BleT G5 W 2 Mg S ulleor aJaTl;r&F@ afs LD

A: 6.1%
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6.1%
B: 6.7%
6.7%
C: 6.0%
6.0%
D: 7.8%
7.8%

Correct Alternative:-B

80 During the preindependence period, estimates of India's National Income was made by

FHHH THH T (PHENG W STevs SLL&H 6V, @b& wmeller G&H& W al(HeuTemn W m@ud’@
QFUISUTSHET

A: Dadabhay Naoroji and Findlay Shirras
SMTHTUTU QBeTCrmedl Inmmild LleTCev adlirmery
B: Joshi and V.K.R.V. Rao
Gxymadl LnMmmith V.K.R.V. JTel
C: Shah and Khambatta
QQIT LOMMILD &LOLILLIT
D: All of these

@) 6M6U I M6ITS ILD

Correct Alternative:- D

81 Identify the correct statement :

(a) Gross National = Gross National Income - Product Net exports + Net Imports
(b) Gross National = Gross National Income Product = Gross National expenditure
(c) Gross National = Gross National Income + Product Gross National expenditure
(d) Gross National = Gross National Product Income + Net exports

Choose the answers :

FlWIMTeoT 6UME G UG 608 85600TL M) &:

(a) QMHS CHAW 2 MHLISH) = QTEHS CHF W au(BeUTUl —BI&T gHMING) + Bl&T @ME GG
(b) QMSS CHFW 2 MHLUSDH) = QLTSS CHHF W aUHeUTUI = QLTSS CHHF W GFae)]

(c) QMEHS CHAW 2 MHLISH) = QTEHS CHF W aU(BaUTUl + QLTSS CHF U QF6va)]

(d) QTS CHHW 2 MHLUSDH) = QLTSS CEHHF W aUHeUTUI + B&HT gHoInG

A: (a)and (b) are true

Page 40 of 70


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2477

TEACHERS RECRUITMENT BOARD
Post Graduate Assistants 2018-2019
Subject — Economics
Question Paper — Tentative key
Date of Exam —27.09.2019 & Session - AN

(a) LOOQILD (b) &Fifl.
B: only (a) is true

(a) LD &ifl.
C: (a)(b) and (c) are true

() (b) OO (C) &Fifl.
D: only (b) is true

(b) LD &ifl.

Correct Alternative:- D

82 As per the estimates of 1999 - 2000 as many as people of India lived below poverty line.
1999 - 2000 @\ 607 LDSHLILS R Ss6rfl6dT LiLg @B W IDESH6T UMIMNECSHTL MG HGL
QUTLD G 60T M 60T

A: 260 Million

260 LAl6v 60 Wi 6T
B: 259 Million

259 18l6V 60 LI 60T
C: 255 Million

255 1016v6edl WI60T
D: 250 Million

250 LO16v6ed LLI60T

Correct Alternative:- A

83 The indicators of Economic development are

QUMMM GUTL L GMILILN B 6ug

A: Size of output + Economic welfare
2 MUSHUIN6T 3|66y + QUITIHOTTSITT [HEVLD
B: Size of output + State of poverty
2 MHUSHUN6T 46TeY + 6umIemLDUI 60T BletrIev
C: Size of output + Unemployment
2 MUSHUNeT 3j6Tey + Gauemev aumuILILNeTemLn
D: Size of output + Productivity

2 MUSHUN6T 3j6mey + 2 MLIGH Hmeor
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Correct Alternative:- A

Match the following :

(a) White Revolution (i)

(b) Grey Revolution (ii)
(c) Yellow Revolution  {iii)
(d) Blue Revolution (iv)

Marine Products

Qil Seeds

Milk Products

Eggs and Pouliry Farm

S0 S TETITLIEN 61 &6 61T QLT (5 &S :

(a)  Gleustoremd UL &
(b)  &mbuev YL &
(c) LEh&FeT YL &

(d) HeouyyL &

Az (a)(ii), (b)~(it), (¢)-(1), (d)-(iv)
(a)-(iii), (b)-(i1), (¢)-(1), (d)-(iv)
B: (a)-(ii), (b)-(1), (¢)-(iii), (d)-(iv)
(a)-(ii), (b)-(1), (¢)-(iii), (d)-(iv)
C: (a)-(iid), (b)-(iv), (¢)-(ii), (d)-(1)
(a)-(iii), (b)-(iv), (¢)-(i1), (d)-(1)
D: (a)-(iv), (b)-(iii), (¢)-(1), (d)-(ii)
(@)-(iv), (b)-(iii), (¢)-(1), (d)-(ii)

Correct Alternative:- C

Marginal Land holdings means having

&0 BleveaemL 60D 6TETLISI

A: 1 hectare
1 Qam&ELT
B: Below 1 hectare

1 QaM&CL([HEHGSLID GHOMEUTSH

(i) &L_60 CUIT(HL&er

(i)  eTevuTCleTuTIL IS SIS Gl

(i)  umeL QUT(HL &6

(iv) (LML 6T LmMILD
G&mLOILILI6usT6%) 61T

Q& ITE0OTIQ (HLILIG).

Page 42 of 70


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2477

TEACHERS RECRUITMENT BOARD
Post Graduate Assistants 2018-2019
Subject — Economics
Question Paper — Tentative key
Date of Exam —27.09.2019 & Session - AN

C: More than one hectare
1 QaM&CL([HEH G GLOVTS

D: 2 to 4 hectare

2 W6V 4 Qam&HELT

Correct Alternative:- B

86 Which is not been the impact of Green Revolution ?
Lgenloll LG ulleormev gmLL TS allemerTe)] 6Tgl ?

A: Increase in production

2 HLSH G SKflLILY
B: Increase in productivity

2 HUSS HmeT HSH &1L
C: Increase in production of all food crop

2 et LU F&serfleot 2 mLSH F a1l
D: Increase in yield per hectare

R QaM&CLT efsld ID&HEH) B &HILIL

Correct Alternative:- C

87 The term "green revolution" was coined by

“LUGeWLILTLE aUTTE6em S 6m Ul &@@n&@m&m

A: Dr. William Gadd
Dr. elleveSlwib &riQ)
B: Dr. Lawrence
Dr. 6VITJ60TEN
C: Dr. John
Dr. &3T60T
D: Dr. Lewis

Dr. smuSlery

Correct Alternative:- A

88 National Bank for Agriculture and Rural Development was set up on :
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Geuermeoor LOMMILD SFTD GUTL(H ML &HETeT CHFIW aUMIS), emNGHELILL L SITeVLD :

A: July 12, 1982

gOeme6v 12, 1982
B: July 11, 1982

g®emev 11, 1982
C: July 10, 1982

3@ emev 10, 1982
D: July9, 1982

IO 9, 1982

Correct Alternative:- A

89 Market intervention scheme was introduced to protect

SBIGTY HeVUI(H H L LD LUMaIsTUNN&STES MWSILRSSLILL LS.

A: Rice Products
& QUL 6T
B: Wheat Products
G&HMSIeMLD QLIMTIHL 6T
C: Horticulture Products
CHIML L &H&HEM6V GILITIHL &6
D: Oil Seeds
6T600T G\ 600T U1 6111 &5 551858 61T

Correct Alternative:- C

90 The Government of India, introduced a National Social Assistance Programme on :

QHEW TF CHFAW Feps 2 5615 HIL LSS HMNSELILGSH WS ?

A: Aug 15, 1997
QL&H6NVL 15, 1997

B: Aug 15,1996
QL&HEVL 15, 1996

C: Aug 15, 1995
QL&HENVL 15, 1995
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D: Aug 15, 1998
QL&HEVL 15, 1998

Correct Alternative:- C

91 Industrial Finance Corporation of India was established on :

@QBHWS QH TN BIF &S5 BlmiedliLLl L 3i,600T(H)

A: July 1%, 1948
gOemev 1, 1948
B: March 1% 1946
D& 1, 1946
C: August 2" 1947
&6V 2, 1947
D: July 4™, 1956
IO M6V 4, 1956

Correct Alternative:- A

92 is the first development bank established in India.
@QbHSH WML (LNHVMTEUSTSH 2 (HeUMEHSLILIL L QIeTHFF eumiG)

A: Industrial Development Bank of India
QBEHWS OFTNSIOM UETTFF aurbIF
B: Industrial Finance Corporation of India
QBEHWS QaTSuzmm BIH & &L&LD
C: Small Industries Development Bank of India
@BH W A OFTSLSImD QITTEFE auhIG)
D: Export - Import Bank of India
QBSH W OG- Q&S kG

Correct Alternative:- D

93 The Planning Commission appointed, the village and small scale Industries Committee under the chairmanship of

G L&GSW, HImoliLm wmmilbd Sm Qs mlmHEF memnevss 6H & 8 meoT & (W elledT &H6m6Vel] T
BlWOS55.
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A: Abid Hussain
398 anoemervedT
B: Karve
STyGe
C: Chakravarty
FE&IaT5HS)
D: Dave
STGel

Correct Alternative:-B

94 The Indian National Trade Union Congress was started in :

@QBHH W CHHW QHTLHMEHIS &MTHISH T Q&L MBI U ,600T(H

A: 1947
1947
B: 1946
1946
C: 1945
1945
D: 1948
1948

Correct Alternative:- A

95 In the Ninth five year plan "Own resources" account for about

RTLS TS BB MTeooT(h HL_LSH 60T ‘QEFMHS ILHTT &600T &’ 6T60T LIS

A: 40% of the total outlay
QLMEHSH GFevailey 40%
B: 45% of the total outlay
QLTSS QFevallev 45%
C: 50% of the total outlay
QLMEHS G Fevailey 50%
D: 55% of the total outlay
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QLTSS QFevalel 55%

Correct Alternative:- A

96 Deficit Financing was zero in .

LSl UHmTEGemD b @ mHSS!

A: VII Plan

JmaIg S L LD
B: VIII Plan

6TLLITLD S LLD
C: IX Plan

R6TLISITID HILL LD
D: X Plan

USSTD S LLD

Correct Alternative:- C

97 Five year plan is also known as 'Gadgil Yojana'.

HSMe0oT(H) HL_LH6MS ‘SITLT6V CUIMTEEOTIT’ 6T6dTMIN 6MLP&HELILI(ID.

A: IX Five year plan

IX 83155 mevor(h HIL_LLD
B: 1II Five year plan

111 831 & mevor(H) HL_L_LD
C: II Five year plan

11 BB&Mevor(H) HL_L LD
D: V Five year plan

V 8B & mevor(h HILLLD

Correct Alternative:-B

98 Decentralised planning led to
LJelevmS&LILIL L S LLIDTers! QPNEGECHTVR M.

A: State - wise planning
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mBlev eurflwmer HLLGEHMGS
B: Block - wise planning

QTGS eurflwmer LSS
C: National level planning

CaA W Iemailevmerr HLLGHMGS
D: All of these

Q) 6M6U M6ITSHGILD

Correct Alternative:-B

99 For less developed countries, in International trade, important policy measures for controlling imports are

GMMEUTET eUeTF&FF W emL W BMTH&6TleL, @mEGUEH el &L HLLGSSID (N&HH W Q8 TeTends
(LDEMUITE 2 _6ITegl.

A: Quotas
R 515 B () &6
B: Quantitative restrictions
l6TeY& &HL_HLILTH &H6T
C: Tariffs
F &S BTe06
D: Both (A) and (B)
RS15% B &6 LDMHMILD 3{6T6)d &L H\LILTH &6 @ revor(HLD

Correct Alternative:- D

100 According to Friedman the average yield on wealth during its lifetime is called as :

LNFLGer Q&Ms 3186 86Te0(pHaE &6 aumLd Breflev HenL &G Frnasf] FLLSmS
6T60T |eMLEHMITIT.

A: Permanent Income
BITHST 6Heu T

B: Personal Income
60T 1 BLIIT 61 ([H6U T

C: Temporary Income
A XN GRI

D: Constant Income
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[5160)6V UL 60T 6 (U T UL

Correct Alternative:- A

101 The first and the foremost objective of Indian Plan is the
@QbHH WS &G L Mg erfledr (L0&edT60)LOWITE0T L0 MHmILD @asﬁa\m GBM&H &0

A: Growth of the economy
QUITIHETTS T eUeTIE &
B: Modernisation
1567607 LOWILOTE &5 6V
C: Self reliance
& W BN &6
D: Social Justice

gons HS

Correct Alternative:- A

102 Why the deployment of additional labour to the production of foodstuff yields diminishing return in Ricardian theory ?
2 oot Ll QUITIHET 2 MLISH UIN6L Fan(hH6L Q& TLOleVTeTIEem 6T LIW6T LM SSID QUITWS,
flasmiCLmeller CaHITL LML LQ60 66T GemMBS Q&6 2 MLISH ellH QFuweLIGR TmS! ?

A: Land is limited in quantity
BV H 60T 26176 &M MEUTSH 2_6TeTS!
B: Land is unlimited in quantity
BleVSH 60T 61T6) UTIDLIMMETSH _6TTS
C: Productive Area of Land is Decreasing
2 MUSHGSETET HlevsH 60T 3J6T6) GH6MMIHSH 6\ 8 MeoTGL 2_6TeTg!
D: Productive Area of Land is constant

2 MUSH &ETET HleVEH D 60T 3|66 [HleMEVILITS 2_6TeTS

Correct Alternative:- A

103 A tariff raises the price of a good in the importing country and lowers in the exporting country, as a result of the price
changes. The effect is

FHIGS HIemeUWITeTSI, 62(H Qurr@erﬂafr allemeveml @ME GG Q& UIWLD HTL 196V
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P &FGSID, gHMING QFUILLD BITL 1460 GmMEHa|D QF WS M. ellenev MMM S 60T Tev
2 6ooTL MG LD ellemerTey

A: Consumers lose in the importing country
@M&HGLS QFUWIWWD BTGV BISTCAITT [H61)L LD 3|60 6UTT&H6T
B: Consumers gain in the exporting country
JHMING Q&F UL BTL 196V BISTCUTT 6VITLLD QL MIQITTE6T
C: Both (A) and (B)
(A) LHDILD (B)
D: None of these
@e6umN6L 6TSI6LD @)6L6tI6V

Correct Alternative:- C

104 is called as the process of estimation of real GNP by using a base year.
F6IT 2,600T60 L 1 LILIEMLUIMTE 606USS 2_600T60LOWITET GILOTESS CHFIU 2 MLIS S 6o

& 60015 & (K LD (emMUIedT QLIWIy
A: National Income at Factor Cost

&Tyeoot|&F QEevallevmeor G5 G W 6UHLOTEOTLD

B: National Income at Constant Price

Blemevwlmeor ellemevuilevment GG 6l (HLOMTEOTLD

C: National Income at Current Price

BHL LI edlemevullevmeor @& &)Ul 6U(HLOITEOTLD

D: National Income at Market Price

FHeng ellemevuilevmer G5 & W 6l (HLOMTEOTLD

Correct Alternative:-B

105 Perennial plantation crops are

151606V 60T LI6voTem)600T LIUIN[TE61T 6T60T LIS

A: Tea

Gxullemev
B: Coffee
s

C: Cardamom
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JEVGH ST
D: All of these

Q) 6M6U I M6ITSHGILD

Correct Alternative:- D

106 Consider the following statements :

Assertion (A) : The government of a country in the event of a shortfall of revenue from taxation may resort to borrowing.

Reason (R) : Under these circumstances public borrowing is the best way out. It is useful for financing of Development
Plans

GLN GG TEVILD 61T 5 WLIMISH 06T 861601 :

FaMMl (A) : @@ BITL_LQ60T T8 60Tl U] aUHeUTUl GenmULD QLTSI Si60& FLOMel&H & &L_6oT
QUM M.

S&MTJeoorld (R) : GLOM&H600TL. FLOWGEH 6V, QUIMSE Ln&G&6 L LOl(HHS &L 60T QLM FMHS
QUPWMGSLD. @& eUeTIER S LHISEHSHE BISHUTs LeaTURSH mS.

A: (A)is true but (R) is false
(A) &1l SpeTTeL (R) S
B: (A)is false but (R) is true
(A) HoUD! SpEUTITED (R) &f]
C: Both (A) and (R) are individually true, and (R) is the correct explanation of (A)
(A) LDMHMILD (R) @ Tevor(HLD Ff1GW (R) 6T6dT LIS (A) —&@& SIf1UIT60T &ITF600T LOMGLD.
D: Both (A) and (R) are individually true, but (R) is not correct explanation of (A)

(A) LDMHMILD (R) @ Tevor(HILD FIflGW (R) 6TedTLISI (A) —&@& FIflulment & ITiyevorLol6Lem6v.

Correct Alternative:- C

107 Milton Friedman includes in the supply of money not only currency but also

eV L6or LNIFL_GL06IT 3J6eUTE6T LI6ooTS H60T 6fILILN6L QUMEaHEems LDI_®LI5]6U6UITLD6U CFis Sl
Q& mevorL L19m

A: Demand deposits and Recurring deposits

G&L_L| 606ULIL&H6T LDMMILD QGTLIT 60)6ULIL| 86T
B: Demand deposits and Time deposits

G&HL_L| 60¥GULIL|&H6T LDMMILD &6V 6M6ULIL|&6IT
C: Demand deposits and Post-office savings

G&L L emeULIL|S6T LDMMILD 3jEhFev GFLAILIL&H6T

D: Government Bonds
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2|8 LIS [ hIG 6T

Correct Alternative:-B

108 In Agriculture short-term loans period is :

AUFTWSH NS &M W HITEV 8 L_60TSH6I160T SITeVMHIGHET :

A: less than 15 months

15 DMHSHMHES GO MmEUTarS
B: less than 12 months

12 DMSSH MG &6 MEUTETS)
C: less than 6 months

6 LDTHSH DS &6MMEUTETS)
D: None of these

@e6umN6L 6TSI6|LD @)6L6tI6V

Correct Alternative:- A

109 state is the largest producer of Jute goods in India.

F6ooTeV QUIMIHLSGemer WIS Ul emalley 2 MUGSH GFUIWLD LomBlevln

A: Assam
S|FMLD

B: Bihar
Bi: 1)

C: Orissa

eflgm
D: West Bengal

GLMG QUMIGSITETLD

Correct Alternative:- D

110 The isoquant of Cobb Douglas Production function are to the origin.
ST LT&Heven 2 mUGEH FriLiler &0 2 muUSH CaHm(RH 86T G5 mmmieumulss @\ (H& G LD.

A: Concave
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Sl

B: Convex
Gelleums
C: Vertical
QFMIGSHS Cam(h
D: Horizontal

LB &end: Cam(h

Correct Alternative:- B

One of the corporations in Tamil Nadu is .

SLOILDIBITL LG 8VI6IT6T LOMHSTTL & & 660 60T

A: Kanyakumari
& 601601 WM& LT
B: Ariyalur
Siflwery
C: Tirupur
BGULY
D: Virudhunagar
N BSIHS T

Correct Alternative:-B

Soil resource is preserved by using :
LD6DOT QUGS 6MS LIMSIGTEH G Ul :

A: Natural Manure
@QUWIMemns 2 D
B: Artificial Manure
QFWMeMS 2_JID
C: Deforestation
T Qe (H&H6ev
D: Grazing

G WE&F 6

GET IT ON
Google Play
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Correct Alternative:- D

113 In what process, Naphthalene is purified ?
BTLIG 6560607 6THS (LN MUV STUI6tLD G&F UIUIGVITLD ?

A: Fractional crystallisation
L9 60T60T LILQ & LOITE &6V
B: Simple distillation
eTerflll STUIEFR 6119556V
C: Sublimation
LG MHIGHLOMTSEH 6V
D: None of these

@e6ummieT 16| Ldlevemev

Correct Alternative:- C

114 A bar magnet is whirled in a mixture of copper and gold dust. We observe that :

@ FLL &MHSHSHemet STLATLD LDMHMID HHISSH SIG6T &Hevemaluiley &pmmild GLIME BT
&600T () 600T T QUG :

A: Copper and gold dust are attracted by the bar magnet

FHevemeUUWilev 2 6Tem ST LDMHMID &HISE SGH6TH6T FLL &THS S5 S 60T M6V
SauTUUBSR M

B: Both copper and gold dust are not attracted by the bar magnet

FHevemaUUilev 2 6Term ST WMHMID HHIGES SIG6TH6T FLL &HTHEHEH TTe0 SHeuLiuU{b eud
©)6V6m6V

C: Gold dust is attracted by the bar magnet
FH6VemeUUI6L 2 6T HHIFHE SIG6T56T DL HICL FLL &HMTHEHESH 6TV SHalFLiLGSH M

D: Copper dust is attracted by the bar magnet

HevemauUilev 2 6T SIS SIG6TSH6T L HICL FLL &MHEHEH 60TmeL HeuFLILGSH M

Correct Alternative:- B

115 Generally plants need nitrogen from soil to make

QUITEIQUTS STEUMBIGET 6Te0S 2_(HEUTEHSH Lneommﬂa) @ BIHS MIHL_JE60)60T
T(HSSIHQETTHRMS :
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A: Protein

LT&LD
B: Fat

Q& MIOLIL
C: Carbohydrate

STFGUT emamL Gl
D: Vitamin

emeuL_L LOleoT

Correct Alternative:- A

116 In which year Swami Vivekananda delivered his special speech at world religious conference in Chicago ?
FH5TCHT HEOLGLMM 36M6THSI6V8 FLOW IOMBITL 1960 e CaussTerHST FIMLIL|em
SO QUIHLLD :

A: 1895
1895
B: 189%4
1894
C: 1883
1883
D: 1893
1893

Correct Alternative:- D

117 was called as the 'Hero of Arcot'.

‘MM T 6TedTMemLPE G LILIL LI :

A: Dupleix
GLUGer

B: Mohamud Ali
W&LG 360

C: Chanda Sahib
FHST FTHLI

D: Robert Clive
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@UTUIL S emerell

Correct Alternative:- D

118 Which of the following play a significant role in acid rain ?

blev e QUG MG WNEHR W STrellseTmed SC STLILL(heTareumnlsy 2 _aTememel
WImsl ?

A: Carbon monoxide and Carbondioxide
ST LI6T GLOMeoT & ema(h LDMMILD &ITT LIGT—60 L — 34,8 606r0 ()
B: Ozone and Carbon dioxide
6@ & T60T LOMMILD & ITH LIGOT—60) L — 860610 ()
C: Nitrogen and Oxygen
6MIBL_ 2607 LOMMILD 8 endleg6or
D: Nitrous oxide and Sulphur dioxide

6MBLTEN Q8&6m6r () LDMMILD FeVLIT—6ML— 48606100

Correct Alternative:- D

119 According to direct democratic system of government :

GBI LD&HSETTLE (LeyMUI6VTET N TEFMMHISHE H 6V :

A: All government officials are appointed by the Parliament
STEFMMHIS SVEUVTEHET 3|6M60TeU[HLD LIMTMTEDH LNedTM & STV BIWL&&SLILIEG S mTIser
B: People appoint the government servants
D& 86T T8 Lieoof WM& emer BIWLSER T &6t
C: People take part in the administration of the country
STEFMMHIS BIFeUTHSH 6V 0&H 56T CHILWTS LIBICHEMHBMMTY 86T
D: People directly elect their President

GUWTHFS SeM6V6lT LN&HE6TTeV GBI UITES CHIHOSH&HSLILMGS T

Correct Alternative:- C

120 The Highest court in England :
@QBIRTHH L WHa|D 2 Wiblenev B LD6TMLD :
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A: Supreme Court
FUFLD G&:myL
B: High Court
2 WFBHSLN6TMLD
C: Privy Council
LNfled &6 6T &l6v
D: House of Lords

Ny & 86T FemL

Correct Alternative:- D

121 The Mahatma Gandhi community colleges have been opened in Tamil Nadu in which among the following ?
L edTeu(pLD 6TH& 6e0TMl60T 419 LILiemL_UIl6L SLALDIBITL 196V IDSTE DT &THS &FeNGHE
SV G6TmeTS HMESLILL LS

A: District with low education ratio
GSmMHS sHevel GG LD Q& meorL LOMeUL L LD
B: Educationally backward districts with low income
GMMIHS eUHLOMETLD Q& mevor L Sevelluilev LedTemIG W 0T L L 618 6T
C: Districts with more SC and ST Population
SC LDMMILD ST @) 60T&H & 6UT & 6T600T6001 18608 UN6L 2_6T6T LOMEUL_ L MBS 6T
D: Prisons, for imparting vocational training

FlemMFSF M6V &H6iT, QS TEIM LUIMEF6mW aULDMHIEG USMETSH

Correct Alternative:- D

122 Identify the need that Ashok will get in his ambition of becoming a class representative.
G LIL H606V6UT TS GeueoT(h LD 6TERILD @) V&M ML LD CUMS CFMTH S60Tenlem L 6THS

G emeauen Wl LTSS Q& UG 6T mmedr ?
A: Aggression

QU H G &TeH G SV
B: Achievement

3{60)L_6)
C: Maternal

STUIemLD

Page 57 of 70


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2477

TEACHERS RECRUITMENT BOARD
Post Graduate Assistants 2018-2019
Subject — Economics
Question Paper — Tentative key
Date of Exam —27.09.2019 & Session - AN

D: Social approval
FeNS @LIL|EH6V

Correct Alternative:-B

123 We forget the things we do not want to remember by burying them in our unconsciousness is called
forgetting.

BITLD BlemeTallel emeUs SIS Q& meTer el (HLLTS allaq UuInI&G 6T MBS THTSH6T 3jeumenm
& WBleneorallev 6m6US S8 QSTeTEHLD LTS LMbHS NHSHMSI.
A: Morbid
S,CIT&HHWIDMmHM
B: Refined
FruBSSILLL
C: Inference

3| 601 LOT60T
D: Purposeful

SGSMIHCHITET 2_6mLULI

Correct Alternative:- A

124 Of the first seven gifts called by Froebel's name, consists of a big wooden cube, divided into eight smaller
equal cubes.

SUCTTELEV6S 6T QUWK6L SemP&H&HLIG LMD N&6V (W Ll QuUTpL_gerflev & (hH
QuIflw Oy &eoT FSITLD WMHMILD & 6Tl (h o Slevor(H&GeTTd: LNflESLUILL L &60T &SI HIGH 606
Q&ITEOTL_G.
A: Gift7
uifles 7
B: Gift3
uifler 3
C: Gift1
Uifler 1
D: Gift2
uifler 2

Correct Alternative:-B
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125 model is intended to increase efficiency of information processing capacities to meaningfully absorb and relate

bodies of knowledge.

DTS FlLIT60T 88660 Q& LIV B 6016085 60T6MLD &M 6dTdH 606 GILIMTIHL_LIL. 2_600T [ &6V
WMHMILD SMley& T Blemevdserfledt QFWeLEHmener G LM SSID WIS Flulms eleThi&GH M.

A: Concept attainment
H(HSS {60 F6V
B: Inquiry training
afleoTeusL LUIMHE
C: Inductive thinking
2 g s M &% emeot
D: Advance organizer

GO L HMmI&HemnLLIL]

Correct Alternative:- D

126 mechanism is the exclusion from consciousness of anxiety-producing memories, thoughts or impulses.

BL &M WTETS LISMME 60 2_(HeUTE G LD [H60)60T6) 8561T, 6T600T600T 15 61T 6LV S
SITE00TL_6V86M 6T &60TSI LD6oTSF 60 (B S! 158D G&F W eVLITLITGLD.

A: Regression
LN etrevTem Ll g &510
B: Aggression
HHMICSHTL 2_600T[J6)
C: Repression
3L &G el emeor
D: Fear reduction

LWL G6emmLiL]

Correct Alternative:- C

127 An individual responds to a new situation on the basis of the responses made by him in similar situations in the past due to

the law of

6T60TM FLL&H 60T SMIeoorlomss (b GMILILNLL 2 ulifl L% &mevgHev gFMHLIH S5
SleVmIG6T CUIMeTCM LIS W @Loblenevuiavid 2G5 M flWmenT SleumkigHenev ML & SI6US
QLGS LD.
A: varied reactions
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LeLCeuml eTH [T 6lemeor
B: attitude

LO 60T LI LI T60T6m LD
C: analogy
eL1L|60L0
D: associative shifting

©)60)600TLIL| LOMMMLD

Correct Alternative:- C

128 'Compulsory Mis-education' is the work of
‘GLLITW (emmUIeLeuTs: 8:606M1° 6T6dTM HIT6m6V 6T(LOSH WIGUT

A: John Holt
SOTE0T QMITEVL
B: Charles Silberman
FTHeveN F6LELITQLD60T
C: Paul Goodman
LIIT6V &L_QLD6oT
D: Ivan Illich
@\ 6umedT @ 6Le0lF

Correct Alternative:- C

129 NCERT has been publishing a half-yearly research journal titled since .
NCERT FemevLiLlevflev 21,600T(H) (LDS6EVITSH @ ([H 60)T Ul mevorT(h) 3,161 & LSl 6t 60T
Nresfla&mal.

A: Indian Educational Review, 1967
@S W sevall IDMIFTTUIE, 1967
B: Pre-Primary Teacher, 1986
(6T QS ITL5&H G fluir, 1986
C: Resonance, 1992
FlGFmQBedTEN, 1992
D: Education, Research and Training, 2002
&Hevadl, 9Llile] LnMmMID LILIMHE 2002
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Correct Alternative:- A

130 In classical conditioning the process by which an organism learns to respond to stimuli similar but not identical to the

training stimulus is .

A58 BlemevwWmIsSss CamLLIML g6V s 2 WlFflwmerg UM STe0oTL VIEE 255 3,607 M6V
@G LMHFIULMEH 6V6VTH HIEVMHEIGE6T QeUeflILRSSID C&FW6VLITL TS

A: Stimulus generalization
SIT600TL6L QLML LT
B: Spontaneous recovery
© L 60T LS6IT6V
C: Extinction of conditioning
&S BlOVUINSSID HIHSH GLIMSHEV
D: Stimulus discrimination

SIT600TL_6L GeumiLim(h)

Correct Alternative:- A

131 When the emotions develop under supervision, children learn to respond with behaviour that is accepted by the group. This

canbe classifiedas  in the role of learning in children's emotions.

Gmumiemeuuiler SLp LTQaUWEDR al6TFemn & U6V & (LD6UTETSI 6 MG LD 6)600T600T LD
GLIHMSSH6T LIFlevefle @l HL&end Ullemeor &M mid Gl&sTeTE 6TMEOTT. ©)86M60T (&LDIH 60 S 8561 160T
DT EUWEFT 5MMe6SI6L 6T60T eUEM & LILI(H &G 6VITLD.

A: Learning by Trial and Error
(LOUIGOTMI &HEUM6V CLOEVLD & MM6V
B: Conditioning
3,55 Bleneuulmis s
C: Learning by Imitation
LUTISSIL LNeTLIMMEL eLneuLd &mmev
D: Training
LuWilme

Correct Alternative:- D

132 According to Bruner, the specific quality of a concept that differentiates it from other concept can be defined as :

Page 61 of 70


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2477

TEACHERS RECRUITMENT BOARD
Post Graduate Assistants 2018-2019
Subject — Economics
Question Paper — Tentative key
Date of Exam —27.09.2019 & Session - AN

L BeoTeNl 60T S MMILILILG., LDMHM & ([H&SIS6M60BHEH CeumiLil () &mevor UMD 6(H & ML L
LI600T60) LI 6T[H& QUTTS 608 G185 M6voT(h 6U6M T UIMI&&HEVITLD ?
A: abstract
F([H&HEHID
B: attribute
L1600T L]
C: concrete
2 Wi
D: experience

9| 60 L6 B & 60T

Correct Alternative:-B

133 At this stage of Erikson's psycho-social development, children begin to identify with the appropriate adult and to model, or
copy, aspects of the adult's behaviour :

6Tifl&& 6ot 60T 2_em&&Feng GLDLITL 1960 @) H& Blemevu6ofleL & LPIHem & &6 G\LIM(IHE S LOTEoT
(WG CWITHEEHL60T H6Tem60T emLWTeTLl LIS Q& TETEHLIN VeV 3| aUT&HNTS HL &M
Yeor 9lbsmgsemeT LTS ueds@Ln.

A: Initiative Vs Guilt

FUI(LPEMEOTLIL| Vs. G MM 2_600T[J6)
B: Mastery Vs Inferiority

CHFTFE Vs. HTLDE) L060TLILIT60T60IL0
C: Autonomy Vs Shame

&60T60 U1 & 851D Vs. 3{6ULDITEOTLD
D: Identity Vs Diffusion

FeoflGglalld Vs. T8 Mg 60

Correct Alternative:- A

134 Which one of the following describes best the meaning of 'Nirvana' ?

L9 606U (IH 61 60T6U M MIGIT 6T B JEUITEO0TLD’ 6T60T LIS 60T QLM [Hem6T FImLILITS elleufl&&Hma 2

A: Freedom from the 'self’

FWSHT O @HS ail(hSeme
B: Freedom from Worldly life
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2 6u5 aumhelledlBHE () &em6v
C: Freedom from the cycle of rebirth

ooy spnH&ulledmna ellhgene
D: Freedom from consciousness

& 6o1em1 6001 o160l ((HIH & el (H & 6mr6V

Correct Alternative:- C

135 The pedagogy that operates at the level of self regulating individual micro and macro systems such as teaching machines
and institutions is

SMHLING S50 @ W HS JHIG6T LnMHmID Bl MIe6oT IS 6T GLIMeTm &eoflLILIL L Hl6oor LoMMILD GILIIHLO
& WL6R(LDMBIG (N Blemevserlel @UIM&HETnlqul &HMLINE 560 (Lemmudlemeor 6TEOTEVITLD.
A: Programmed instruction
S LA L &ML 560
B: Synergism
Feoriedleruld
C: Operant conditioning
SHAFTT 9,858 blenevwilmig s
D: Cybernetics

FLITQ B985 61

Correct Alternative:- D

136 divides school into two groups A and B, In this A received instruction on 3R's and B studied arts, games and
other areas like gym and artroom.

wenm LeTerfluflement A LDMHMILD B 6T6dT @) (H & (WD HETMTS UG5S QFWLRHSSID,
@56v A GWeUMeTsl 3R &FMIHS LUIME ullemer QUMILD LDMHMID B G &Hemev, elemeTwmL(),
2 Louwilmnd uwmmih SseneuliLulm&ullemeot LIulsLD.

A: Laboratory School
L1618 LieTerf]
B: Montessori Schooling System
nmevorlq. @& mif] LieiTerf] oy6mLnLiL]
C: Deschooling System
LeTerfl gjemLoLliLleveurm (emm

D: Platoon System
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L1em (B 60T (D6t M

Correct Alternative:- D

Which one of the following is considered to be the basis for imagining, creating, associating meanings and reasoning ?

L9 60T6U (IH6) 60TEU M MU T 6TIHS 62 60T MITEUTSI & MLIEM 6T QI&FUIW, 2_(HEUMTEH S, QLITIHET &)60)600TS 556V
LDMMILD SITF6oT QFWVLTHI&HEHEH G 3L WTS SMHSLIUGSRmE ?

A: Animism

Q60T L0 & & 60T60) L0
Maturation

WH &S
Interest

SbJeuD

Memory

[blemenra

Correct Alternative:- D

There will be a great sense of difficulty in maintaining posture, walking, climbing and in controlling voluntary movements
such as reaching, grasping and manipulating, without

BIMMEV, HL&S6V, FMISH LDMMILD &60T60l1F6m& B&HT6|&H6m6T &L (H LGS SILD
QEWLLITH&6TTET CEFISHSH, CFsIflEH5H6) LDMMILD MEWTEHS) CLIMETM Q&FWevLIm(H &6t

In

@) 6VEVITLDEY &LQ.60TLDITEOTS TS | 6BLOU|LD.

Visceral responses

9 GTEBMILILIFTI SI6VMI&H 608 60T
Apparent motion

GxMMM @ Ui LD

Assertiveness training

60T (Lemeot LI L1 LILIm &
Kinesthesis

SMNHFF U6V @ UISHSHLD

Correct Alternative:- D

type of concept, attributes and values are substituted for one another. For example, if we say 'two figures or
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two circles', in this the attributes are form and number but the value of the number remains the same.

QbS5 QUG & (HSDH) 60116V LI600TL|SH6T LOMMILD DG LI & 6T 66T EMmTQ L MedTmi Lo
QEFUWIG Q&METEBLD. T(HSHSIHHITL LTS ‘@) (H 6ULEIBIS6T 606V @) (H QUL L MBIGH6T’ 6160160 @) 56
LI60OTL|556T 2_(HeULDT&HELD LM MILD 6T600TE6TITH LD 6MLDU|LD. BL60TIT6V DG L1L| & 6T 6T600TE: 6T
L GG IDTMITH (HEGLD.

A: Relational Concept

QEHTLIUML W &HHSHS!
B: Conjunctive Concept
QEeTHS HMHSS!
C: Disjunctive Concept
aleVE & Blem6eV & (H5 S
D: Void Concept
QD& HHSS!

Correct Alternative:- C

140 The report of the National Commission on Teachers-I was entitled as,

CHFW AW GO — 1 915607 3N & 608 Ulemeor 6TeoT SemeVLILINL LS.

A: Teacher, Pupil and School
AW, LDMeooTM&H & IMMILD LieTer]
B: The Teacher and Society

A FlWF IHmILD Fens L
C: 'The Teacher'

‘&Il
D: The Teacher and Nation Building

A FlWF Hmih CHF8 &L LennLIL

Correct Alternative:-B

141 reinforcers differ considerably from the concept of punishment. Unlike punishment these are designed to

strengthen an escape response, not to inhibit an undesirable response.

UG L 1Q 56T & 600TL60I60T 6T60TM & (HSH N BB S (PMHMILDTS LMTMILIGHSH M.
&600T L_60)60T GLIITEV {6V6VITLO6V @) 606U&6T S8 @D SlevhIsGemev LIVILMSSID ell&Inmsea LD,
GLaILD e (HLOLGS S ST SI6VMHEIEHEN6V H60LQFUIWIT elGL0MEH6|LD aULG.6U6MLNEG S LILIL (H 6Tl

A: Positive
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GBI DM
B: Negative

R ypTalzol)
C: Neutral

B\ blen6v
D: Zero

LLBWw

Correct Alternative:-B

142 The DANIDA-TNAHCP initiative of Tamil Nadu state is related to which among the following sectors ?
&0l &H 5 & 6V DANIDA - TNAHCP (LnesTQeot(hLIL] LedTeu LD Slemnmaerflev 6Ths 66T GmMm(h)
QHTLIL6mLWS ?

A: Housing
i (heuFsH)
B: Health
F&HTSTTLD
C: Education
Hevall
D: Horticulture

CHMLLEFHM6V

Correct Alternative:-B

143 The 'Indian Council of Philosophical Research(ICPR)' was established in by the ministry of education, Govt.
of India.

@QBH W TF T Hevall YMNEFFSLD ‘@QHH W 55160 TTUIEFSF & LDE D 66T’
p600T(h Blouelwig.

A: 1962
1962
B: 1977
1977
C: 1985
1985
D: 1999
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1999

Correct Alternative:-B

144 Akila generally appears sad, expresses in writing rather than speaking, is interested in reading of the following in which

type did J.C. Jung classify him ?

QUITEIITHGa FR6eVT LIMTEHS CFMHINTE @ HEHMMET. CLFaImMS el 6T(DSIaUH 6V & 60T60)60T
QeueflILM&SHE Q&MeTEBHLD 3jeU6T, UTFLILISH LTI 2 6TeTel6T. J.C. 8SMhi 6THS 6Uend HLD
IQUMET QUM LILMHS ST ?

A: Introvert intuitive type

2 GTCBHITES 2_6TEH60T6Y 61605
B: Extrovert intuitive type

2 6TGIBITSH G 2_600T6) QUM
C: Introvert sensational type

QeueIBHITE: & 2_6TEH 60T T6Y 6168
D: Extrovert feeling type

QeueIGHITE & 2_600T[J6) 616D

Correct Alternative:- C

145 Which theory is popularly known as the Jukebox Theory ?
6THS CaHMTL UMM 8298 LMEenN CaHTLUM@H eTer LNITLeVTSHS &HSLILIOS MSI ?

A: Schchter and singer theory of emotion
ELT & FBIGT 6T ealWwsFR s CamLum@)
B: Arnold's excitatory theory of emotion
S| [JEOTITEVIY.60T 2_600THEFILI QILI([HESH DTG 6U(WDER & GaH LM
C: Maclean's theory of emotion
QL& 60 Wi6dT LneTQeUWEF & CamLLIm(h)
D: Papez's theory of emotion

LmLILNen erQeu&s & GamLLm@)

Correct Alternative:- A

146 'Sriniketan’ is a constituent institution of VisvaBharti University, is an institute of
aJleVEULITTS) LIV 06058 NE S H 60T 62(H 2_MILIL| [BlMIGI6TLOMS gﬁﬁ](‘;aag;m QWL RMSI,
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@bbBlmeieTld BlMIeIeTIOMGLD.

A: Teacher Training and Education
A FlwF uuimS LHmiLd seved
B: Languages
Qumdlsser
C: Fine arts and crafts
BlevoTd 6l 60TEH 606V LM MILD 60856 6t 60T
D: Rural reconstruction

G ITOLILIM L|6oTFemLOLIL

Correct Alternative:- D

147 Activities such as writing an essay, drawing a picture to depict the seasons of the year, constructing an exhibit for the

school science fair, represents

&L (60T 6T SIS 6V, 6)(HL IS 6Tl60T Li[H6eUMHISHemeT &5 518 @E LD 61600T600TLD LIL_ MBS 6T 6UTSH6,
Lererflullesr mMlafluflev sevors G & & TS L QuUTHerflener 2 [Heums a6y GLIMTeTm
@ &FQEFWeeLLITH 86T e GMISHHMSI.

A: Application
LwleoT LU() & &1 &6V
B: Analysis
UGS STUISH6V
C: Synthesis
QBTG ESHITUISHE
D: Evaluation

& LILTL6v

Correct Alternative:- C

148 In Froebel's Kindergarten, full freedom is given to the child to handle gifts, educational toys in the way he/she likes. Such

activities connected with these gifts are called

SUGTTQLEV60 60T &60oTL[J& T L60T (LNemMUIl6L, GBS & 6T euFaerler ell(pLILSH MHECEH ML
U&L QUITBL&6T, HevallFmT GUITDemLN& 66T 605 ULTEBaISME (W FSHH I
IeM&ELURSH M. @FQ&FWeuLIT(H &emeT 6TEOTEVITLD.

A: Occupations

LeooflLpemym Q& wevLIm()

Page 68 of 70


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

149

150

= |V

TEACHERS RECRUITMENT BOARD
Post Graduate Assistants 2018-2019
Subject — Economics
Question Paper — Tentative key
Date of Exam —27.09.2019 & Session - AN

B: Childs Play
GBS allemerwlmL_(h
C: Engagement
QEFWe6VBlemeVLl GUIMTE S
D: Life Work

QUTLD& 608 L1 Li6ool]

Correct Alternative:- A

is also known as Adlerian Therapy.

ILQeuf W Q&L eTedTmID Siemp&HSLILGISMS.

A: Individual Psychology
Geoflneof1s 2 _emadlulev
B: Client Centered Psychology
QUITLY. 86008 UIMETT MO 2_6Tedliiey
C: Behavioural Theory
BL&HMS CHTLUM(H
D: Reality Therapy

2 _6ooTemD PP FenF

Correct Alternative:- A

Education methodology modelled by Paulo Freire is .
LUTCeVIT LIedTW T jeursermev mH ] 2 »BLIGUMDM SHevall (Pemmumers!

A: Active learning method

QFWeLLITL(H &MM6V (LPemM
B: Conscientization

2 GMEFMOTMI [H]60)6V5 & 60T6mL0
C: Self-perpetuation

& W Blemeu LML ()& &edTemLn
D: Participation

LmIG&HMM6V

Correct Alternative:- B
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